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”strong=”702|�/������������� x-morph=”OSHM:HAcmsc/Sp3mp” x-
cantillationLevel=”1.1” ”strong=”5414|������ x-morph=”OSHM:HVqp3ms”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” ”strong=”d/430|���������/���
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0.0” ”strong=”4093|�������
x-morph=”OSHM:HNcmsa” strong=”c/7919|����������/�� a” x-morph=”OSHM:HC/Vha”
x-cantillationLevel=”1.0” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”�������|strong=”5612
a” x-morph=”OSHM:HNcmsa” ”strong=”c/2451|��������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”1” ”strong=”c/1840|����������/�� x-morph=”OSHM:HC/Np”
”strong=”995|������� x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”0.1”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”��������|strong=”2377”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”c/2472|���������/��
x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”0”� 18 ”strong=”c/l/m/7117|������/��/��/��
x-morph=”OSHM:HC/R/R/Ncfsc” x-cantillationLevel=”1.1.0” ”strong=”d/3117|��������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1” strong=”834|������
a” x-morph=”OSHM:HTr”�������|strong=”559” x-morph=”OSHM:HVqp3ms”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”l/935|�/��������/�� x-morph=”OSHM:HR/Vhc/Sp3mp” x-cantillationLevel=”1”
”strong=”c/935|��/�������/�� x-morph=”OSHM:HC/Vhw3ms/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”8269|����� x-morph=”OSHM:HNcmsc”
”strong=”d/5631|�����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc” x-cantillationLevel=”0.0”
”strong=”5019|��������������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
19 ”strong=”c/1696|���������/�� x-morph=”OSHM:HC/Vpw3ms” ”strong=”854|��/�����
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.3.0” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.3” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”4672|�������� x-morph=”OSHM:HVNp3ms”
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x-cantillationLevel=”1.2.0” ”strong=”m/3605|�/�������/�� x-morph=”OSHM:HR/Ncmsc/Sp3mp”
x-cantillationLevel=”1.2” ”strong=”k/1840|����������/��� x-morph=”OSHM:HR/Np”
strong=”2608|���������� a” x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”4332|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/5838|����������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1”
”strong=”c/5975|������������/�� x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”0.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
20 ”strong=”c/3605|����/�� x-morph=”OSHM:HC/Ncmsc” x-cantillationLevel=”1.1.1”
”strong=”1697|������� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.1.0”
”strong=”2451|�������� x-morph=”OSHM:HNcfsc” ”strong=”998|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1” strong=”834|������
a” x-morph=”OSHM:HTr”����������|strong=”1245” x-morph=”OSHM:HVpp3ms”
”strong=”m|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/4672|�/����������/��� x-morph=”OSHM:HC/Vqw3ms/Sp3mp”
x-cantillationLevel=”0.1.1.0” ”strong=”6235|������� x-morph=”OSHM:HAcfsa”
”strong=”3027|������� x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0.1.1”
strong=”5921|���� a” x-morph=”OSHM:HR” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”������������/����|strong=”d/2748”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1.0” ”strong=”d/825|�����������/���
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”0.0” ”strong=”b/3605|���/���
x-morph=”OSHM:HR/Ncmsc”��/����������|strong=”4438” x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0”� 21 ”strong=”c/1961|������/��� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1.0” ”strong=”1840|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”8141”
x-morph=”OSHM:HNcfsc” ”strong=”259|������ x-morph=”OSHM:HAcfsa”
x-cantillationLevel=”0.0” ”strong=”l/3566|��������/�� x-morph=”OSHM:HR/Np”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
�2 ”strong=”c/b/8141|�������/��/�� x-morph=”OSHM:HC/R/Ncfsc”

”strong=”8147|���������� x-morph=”OSHM:HAcfda” x-cantillationLevel=”1.1.1”
”strong=”l/4438|���������/�� x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.1.0”

”strong=”5019|���������������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”2492|������ b” x-morph=”OSHM:HVqp3ms” ”strong=”5019|����������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”2472|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1” ”strong=”c/6470|������������/��
x-morph=”OSHM:HC/Vtw3fs” ”strong=”7307|��/����� x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”c/8142|��/�������/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”1961|���������� x-morph=”OSHM:HVNp3fs”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”�
2 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/4428|�������/���
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1.1” ”strong=”l/7121|������/��
x-morph=”OSHM:HR/Vqc” ”strong=”l/2748|������������/��� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”1.1.1.0” ”strong=”c/l/825|�����������/���/�� x-
morph=”OSHM:HC/Rd/Ncmpa” x-cantillationLevel=”1.1.1” ”strong=”c/l/3784|�������������/���/��
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x-morph=”OSHM:HC/Rd/Vprmpa” x-cantillationLevel=”1.1.0” ”strong=”c/l/3778|������������/��/��
x-morph=”OSHM:HC/Rd/Ngmpa” x-cantillationLevel=”1.1” ”strong=”l/5046|��������/��
x-morph=”OSHM:HR/Vhc” ”strong=”l/4428|��������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”2472|�/���������� x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.1” ”strong=”c/5975|������������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
3 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0.0” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”2472|�������
x-morph=”OSHM:HNcmsa” strong=”2492|����������� b” x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1” ”strong=”c/6470|����������/�� x-morph=”OSHM:HC/VNw3fs”
”strong=”7307|�/������ x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0.1”
”strong=”l/3045|������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0”
”strong=”853|���� x-morph=”OSHM:HTo”�������/���|strong=”d/2472”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 4 ”strong=”c/1696|�����������/���
x-morph=”OSHM:HC/Vpw3mp” ”strong=”d/3778|������������/�� x-
morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”1.0.0” ”strong=”l/4428|��������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”762|���������
x-morph=”OSHM:HNgfsa” x-cantillationLevel=”1” ”strong=”4430|��/�������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1.0” ”strong=”l/5957|���������/��
x-morph=”OSHM:AR/Ncmpa” ”strong=”2418|������ x-morph=”OSHM:AVqv2ms”
x-cantillationLevel=”0.1” ”strong=”560|������ x-morph=”OSHM:AVqv2ms”
”strong=”2493|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.0.0”
”strong=”l/5649|�/����/� x-morph=”OSHM:AR/Ncmpc/Sp2ms” x-wType=”x-
ketiv” 2 ”strong=”c/6591|�/��������/�� x-morph=”OSHM:AC/Ncmsd/Td”
”strong=”2324|��������� x-morph=”OSHM:AVpi1cp” x-cantillationLevel=”0”�
5 ”strong=”6032|������ x-morph=”OSHM:AVqrmsa” ”strong=”4430|��/�������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1.0” ”strong=”c/560|������/��
x-morph=”OSHM:AC/Vqrmsa” ”strong=”l/3779|�/����/� x-morph=”OSHM:AR/Ngmsd/Td”
x-wType=”x-ketiv” 3 ”strong=”4406|�/�������� x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”1.0” ”strong=”4481|�/������ x-morph=”OSHM:AR/Sp1cs”
”strong=”230|��������� x-morph=”OSHM:AAafsa” x-cantillationLevel=”1”
strong=”2006|���� a” x-morph=”OSHM:AC” ”strong=”3809|���� x-morph=”OSHM:ATn”
”strong=”3046|����/��������������� x-morph=”OSHM:AVhi2mp/Sp1cs”
x-cantillationLevel=”0.2.0” ”strong=”2493|�/������� x-morph=”OSHM:ANcmsd/Td”
”strong=”c/6591|��/��������/�� x-morph=”OSHM:AC/Ncmsc/Sp3ms”
x-cantillationLevel=”0.2” ”strong=”1917|���������� x-morph=”OSHM:ANcmpa”
x-cantillationLevel=”0.1.0” ”strong=”5648|�������������� x-morph=”OSHM:AVui2mp”
x-cantillationLevel=”0.1” ”strong=”c/1005|�����/������/�� x-morph=”OSHM:AC/Ncmpc/Sp2mp”
x-cantillationLevel=”0.0” ”strong=”5122|�������� x-morph=”OSHM:ANcfsa”
2+ ”strong=”l/5649|��/�������/���/����/� x-morph=”OSHM:AR/Ncmsc/Sp2ms” x-

cantillationLevel=”0.0”
3+”strong=”l/3779|�/�����������/���/����/� x-morph=”OSHM:AR/Ngmpa/Sp1cs”

x-cantillationLevel=”1.1”
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”strong=”7761|������������� x-morph=”OSHM:AVui3mp” x-cantillationLevel=”0”�
6 strong=”c/2006|����/�� a” x-morph=”OSHM:AC/Tm” ”strong=”2493|�/�������
x-morph=”OSHM:ANcmsd/Td” ”strong=”c/6591|���/�������/�� x-morph=”OSHM:AC/Ncmsc/Sp3ms”
x-cantillationLevel=”1.2.0” ”strong=”2324|������������ x-morph=”OSHM:AVhi2mp”
x-cantillationLevel=”1.2” ”strong=”4978|��������� x-morph=”OSHM:ANcfpa”
”strong=”c/5023|�����������/�� x-morph=”OSHM:AC/Ncfsa” x-cantillationLevel=”1.1.0”
”strong=”c/3367|�����/�� x-morph=”OSHM:AC/Ncmsa” ”strong=”7690|���������
x-morph=”OSHM:AAamsa” x-cantillationLevel=”1.1” ”strong=”6902|�������������
x-morph=”OSHM:AVpi2mp” x-cantillationLevel=”1.0” ”strong=”4481|���
x-morph=”OSHM:AR”�/��������|strong=”6925” x-morph=”OSHM:AR/Sp1cs”
x-cantillationLevel=”1” strong=”2006|������ b” x-morph=”OSHM:AC” x-
cantillationLevel=”0.1” ”strong=”2493|�/������� x-morph=”OSHM:ANcmsd/Td”
”strong=”c/6591|��/��������/�� x-morph=”OSHM:AC/Ncmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”2324|���/������� x-morph=”OSHM:AVhv2mp/Sp1cs”
x-cantillationLevel=”0”� 7 ”strong=”6032|������ x-morph=”OSHM:AVqp3mp”
”strong=”8579|����������� x-morph=”OSHM:AAobpa” x-cantillationLevel=”1.0”
”strong=”c/560|���������/�� x-morph=”OSHM:AC/Vqrmpa” x-cantillationLevel=”1”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1”
”strong=”2493|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.0.0”
”strong=”560|������� x-morph=”OSHM:AVqi3ms” ”strong=”l/5649|���/��������/��
x-morph=”OSHM:AR/Ncmpc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”c/6591|�/��������/��
x-morph=”OSHM:AC/Ncmsc/Sp3ms” ”strong=”2324|���������� x-morph=”OSHM:AVhi1cp”
x-cantillationLevel=”0”� 8 ”strong=”6032|������ x-morph=”OSHM:AVqrmsa”
”strong=”4430|��/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.2.0”
”strong=”c/560|������/�� x-morph=”OSHM:AC/Vqrmsa” x-cantillationLevel=”1.2”
”strong=”4481|��� x-morph=”OSHM:AR”���������|strong=”3330” x-
morph=”OSHM:AAamsa” x-cantillationLevel=”1.1.0” ”strong=”3046|������
x-morph=”OSHM:AVqrmsa” strong=”576|������ a” x-morph=”OSHM:APp1cs”
x-cantillationLevel=”1.1” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”5732|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.0” ”strong=”608|����������
x-morph=”OSHM:APp2mp” ”strong=”2084|��������� x-morph=”OSHM:AVqrmpa”
x-cantillationLevel=”1” ”strong=”k/3606|�/��� x-morph=”OSHM:AC/C”�������|strong=”6903”
x-morph=”OSHM:AC” x-cantillationLevel=”0.1.0” ”strong=”1768|����� x-
morph=”OSHM:AC” ”strong=”2370|���������� x-morph=”OSHM:AVqp2mp”
x-cantillationLevel=”0.1” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”230|���������
x-morph=”OSHM:AAafsa” x-cantillationLevel=”0.0” ”strong=”4481|�/������
x-morph=”OSHM:AR/Sp1cs” ”strong=”4406|�/�������� x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”0”� 9 ”strong=”1768|����� x-morph=”OSHM:ATr”
strong=”2006|��� a” x-morph=”OSHM:AC”��/�������|strong=”2493”
x-morph=”OSHM:ANcmsd/Td” ”strong=”3809|���� x-morph=”OSHM:ATn”
”strong=”3046|���/�������������� x-morph=”OSHM:AVhi2mp/Sp1cs”
x-cantillationLevel=”1.1.2.0” ”strong=”2298|����� x-morph=”OSHM:AAcfsa”������|strong=”1932”
x-morph=”OSHM:APp3fs” ”strong=”1882|�����/����� x-morph=”OSHM:ANcfsc/Sp2mp”
x-cantillationLevel=”1.1.2” ”strong=”c/4406|�������/�� x-morph=”OSHM:AC/Ncfsa”
”strong=”3538|�������� x-morph=”OSHM:AAafsa” ”strong=”c/7844|����������/��
x-morph=”OSHM:AC/VQsfsa” x-cantillationLevel=”1.1.1” ”strong=”2164|�������
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x-morph=”OSHM:AVhp2mp” x-wType=”x-ketiv” 4 5 Adaptations to a Qere
which L and BHS, by their design, do not indicate. ”strong=”l/560|�������/��
x-morph=”OSHM:AR/Vqc” ”strong=”6925|�/�������� x-morph=”OSHM:AR/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”5705|���� x-morph=”OSHM:AR” x-cantillationLevel=”1.0.0”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”5732|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.0” ”strong=”8133|�������������
x-morph=”OSHM:AVMi3ms” x-cantillationLevel=”1” strong=”2006|������
b” x-morph=”OSHM:AC” x-cantillationLevel=”0.2.1” ”strong=”2493|��/������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.2.0” ”strong=”560|��������
x-morph=”OSHM:AVqv2mp” ”strong=”l|�/��� x-morph=”OSHM:AR/Sp1cs”
x-cantillationLevel=”0.2” ”strong=”c/3046|���������/��� x-morph=”OSHM:AC/Vqi1cs”
x-cantillationLevel=”0.1” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”6591|��/��������
x-morph=”OSHM:ANcmsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”2324|���/�������������
x-morph=”OSHM:AVhi2mp/Sp1cs” x-cantillationLevel=”0”� 10 ”strong=”6032|������
x-morph=”OSHM:AVqp3mp” ”strong=”3779|�/���� x-morph=”OSHM:ANgmsd/Td”
x-wType=”x-ketiv” 6 ”strong=”6925|����� x-morph=”OSHM:AR”��/��������|strong=”4430”
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.3.0” ”strong=”c/560|����������/��
x-morph=”OSHM:AC/Vqrmpa” x-cantillationLevel=”1.3” ”strong=”3809|����
x-morph=”OSHM:ATn”��������|strong=”383” x-morph=”OSHM:ATa” ”strong=”606|�������
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.2.0” ”strong=”5922|���
x-morph=”OSHM:AR”�/�������������|strong=”3007” x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”1.2” ”strong=”1768|����� x-morph=”OSHM:ATr” x-
cantillationLevel=”1.1.0” ”strong=”4406|������� x-morph=”OSHM:ANcfsc”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1”
”strong=”3202|������� x-morph=”OSHM:AVqi3ms” x-cantillationLevel=”1.0”
”strong=”l/2324|����������/�� x-morph=”OSHM:AR/Vhc” x-cantillationLevel=”1”
”strong=”k/3606|�/��� x-morph=”OSHM:AC/C”�������|strong=”6903”
x-morph=”OSHM:AC” x-cantillationLevel=”0.2.2” ”strong=”1768|����� x-
morph=”OSHM:AC” x-cantillationLevel=”0.2.1” ”strong=”3606|���� x-morph=”OSHM:ANcmsc”���������|strong=”4430”
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”0.2.0” ”strong=”7229|����
x-morph=”OSHM:AAamsa” ”strong=”c/7990|���������/�� x-morph=”OSHM:AC/Aamsa”
x-cantillationLevel=”0.2” ”strong=”4406|������� x-morph=”OSHM:ANcfsa”
”strong=”k/1836|������/�� x-morph=”OSHM:AR/Pdxms” x-cantillationLevel=”0.1.0”
”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”7593|������� x-
morph=”OSHM:AVqp3ms” x-cantillationLevel=”0.1” ”strong=”l/3606|���/��
x-morph=”OSHM:AR/Ncmsc”����������|strong=”2749” x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”0.0” ”strong=”c/826|�������/�� x-morph=”OSHM:AC/Ncmsa”
”strong=”c/3779|����������/�� x-morph=”OSHM:AC/Ngbsa” x-cantillationLevel=”0”�
11 ”strong=”c/4406|�/��������/�� x-morph=”OSHM:AC/Ncfsd/Td” ”strong=”1768|����
x-morph=”OSHM:ATr”�/���������|strong=”4430” x-morph=”OSHM:ANcmsd/Td”
”strong=”7593|������� x-morph=”OSHM:AVqrmsa” x-cantillationLevel=”1.2.0”
”strong=”3358|���������� x-morph=”OSHM:AAafsa” x-cantillationLevel=”1.2”
4+ ”strong=”2164|������������������������ x-morph=”OSHM:AVMp3mp” x-

cantillationLevel=”1.1.0”
5a
6+ ”strong=”3779|�/������������/���� x-morph=”OSHM:ANgmpc/Sp1cs”
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”strong=”c/321|��������/�� x-morph=”OSHM:AC/Aamsa” x-cantillationLevel=”1.1.0”
”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”383|������� x-morph=”OSHM:ATa”
x-cantillationLevel=”1.1” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”2324|��/�����������
x-morph=”OSHM:AVpi3ms/Sp3fs” x-cantillationLevel=”1.0” ”strong=”6925|������
x-morph=”OSHM:AR” ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1” ”strong=”3861|������ x-morph=”OSHM:AC” ”strong=”426|���������
x-morph=”OSHM:ANcmpa” x-cantillationLevel=”0.2” ”strong=”1768|�����
x-morph=”OSHM:ATr” x-cantillationLevel=”0.1.0” strong=”4070|�����/�������
b” x-morph=”OSHM:ANcmsc/Sp3mp” x-cantillationLevel=”0.1” ”strong=”5974|���
x-morph=”OSHM:AR”�/����������|strong=”1321” x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.0” ”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”383|���/�������
x-morph=”OSHM:ATa/Sp3ms” x-cantillationLevel=”0”� 12 ”strong=”k/3606|�/���
x-morph=”OSHM:AC/C”�������|strong=”6903” x-morph=”OSHM:AC” ”strong=”1836|�������
x-morph=”OSHM:AC” x-cantillationLevel=”1.2” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1” ”strong=”1149|�������
x-morph=”OSHM:AVqp3ms” x-cantillationLevel=”1.0” ”strong=”c/7108|������/��
x-morph=”OSHM:AC/Vqp3ms” ”strong=”7690|��������� x-morph=”OSHM:AAamsa”
x-cantillationLevel=”1” ”strong=”c/560|������/�� x-morph=”OSHM:AC/Vqp3ms”
x-cantillationLevel=”0.1.0” ”strong=”l/7|����������/�� x-morph=”OSHM:AR/Vhc”
x-cantillationLevel=”0.1” ”strong=”l/3606|����/�� x-morph=”OSHM:ATo/Ncmsc”
x-cantillationLevel=”0.0” ”strong=”2445|���������� x-morph=”OSHM:ANcmpc”
”strong=”895|������ x-morph=”OSHM:ANp” x-cantillationLevel=”0”� 13
”strong=”c/1882|�/�����/�� x-morph=”OSHM:AC/Ncfsd/Td” ”strong=”5312|��������
x-morph=”OSHM:AVqp3fs” x-cantillationLevel=”1.1” ”strong=”c/2445|�/�������������/��
x-morph=”OSHM:AC/Ncmpd/Td” x-cantillationLevel=”1.0” ”strong=”6992|���������������
x-morph=”OSHM:AVMrmpa” x-cantillationLevel=”1” ”strong=”c/1156|������/��
x-morph=”OSHM:AC/Vqp3mp” x-cantillationLevel=”0.0.0” ”strong=”1841|�����������
x-morph=”OSHM:ANp” ”strong=”c/2269|���/��������/�� x-morph=”OSHM:AC/Ncmpc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”l/6992|������������/�� x-morph=”OSHM:AR/VMc”
x-cantillationLevel=”0”� � 14 ”strong=”b/116|�������/��� x-morph=”OSHM:AR/D”
”strong=”1841|����������� x-morph=”OSHM:ANp” x-cantillationLevel=”1.2.1”
”strong=”8421|������� x-morph=”OSHM:AVhp3ms” x-cantillationLevel=”1.2.0”
”strong=”5843|������ x-morph=”OSHM:ANcfsa” ”strong=”c/2942|������/��
x-morph=”OSHM:AC/Ncmsa” x-cantillationLevel=”1.2” strong=”l/746|����������/��
b” x-morph=”OSHM:AR/Np” x-cantillationLevel=”1.1” ”strong=”7229|���
x-morph=”OSHM:AAamsc”�/������������|strong=”2877” x-morph=”OSHM:ANcmpd/Td”
x-cantillationLevel=”1.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1” ”strong=”1768|�����
x-morph=”OSHM:ATr” x-cantillationLevel=”0.1.0” ”strong=”5312|������
x-morph=”OSHM:AVqp3ms” ”strong=”l/6992|���������/�� x-morph=”OSHM:AR/Vpc”
x-cantillationLevel=”0.1” ”strong=”l/2445|����������/�� x-morph=”OSHM:ATo/Ncmpc”
x-cantillationLevel=”0.0” ”strong=”895|������� x-morph=”OSHM:ANp”
x-cantillationLevel=”0”� 15 ”strong=”6032|������ x-morph=”OSHM:AVqrmsa”
”strong=”c/560|������/�� x-morph=”OSHM:AC/Vqrmsa” x-cantillationLevel=”1.1.1”
strong=”l/746|����������/�� b” x-morph=”OSHM:AR/Np” x-cantillationLevel=”1.1.0”
”strong=”7990|�/���������� x-morph=”OSHM:AAamsd/Td” ”strong=”1768|����
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x-morph=”OSHM:ATi” ”strong=”1882|�/����� x-morph=”OSHM:ANcfsd/Td”
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x-morph=”OSHM:AR” ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
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”strong=”3046|������� x-morph=”OSHM:AVhp3ms” x-cantillationLevel=”0”�
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x-morph=”OSHM:ANcmpc” ”strong=”895|������ x-morph=”OSHM:ANp”
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x-cantillationLevel=”0.0” ”strong=”l/426|�������/�� x-morph=”OSHM:ATo/Ncmsc”
”strong=”8065|�/��������� x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”0”�
20 ”strong=”6032|������ x-morph=”OSHM:AVqrmsa” ”strong=”1841|�����������
x-morph=”OSHM:ANp” x-cantillationLevel=”1.2.0” ”strong=”c/560|������/��
x-morph=”OSHM:AC/Vqrmsa” x-cantillationLevel=”1.2” ”strong=”1934|��������
x-morph=”OSHM:AVqi3ms” ”strong=”8036|��/������ x-morph=”OSHM:ANcmsc/Sp3ms”
”strong=”1768|����� x-morph=”OSHM:ATr”��/�������|strong=”426”
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1.0” ”strong=”1289|���������
x-morph=”OSHM:AVpsmsa” x-cantillationLevel=”1.1” ”strong=”4481|���
x-morph=”OSHM:AR”�/��������|strong=”5957” x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.0” ”strong=”c/5705|����/�� x-morph=”OSHM:AC/R”�/��������|strong=”5957”
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1” ”strong=”1768|�����
x-morph=”OSHM:AC” ”strong=”2452|�/��������� x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”0.0.0” ”strong=”c/1370|�/����������/�� x-morph=”OSHM:AC/Ncfsd/Td”
x-cantillationLevel=”0.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”l|��/���
x-morph=”OSHM:AR/Sp3ms”������|strong=”1932” x-morph=”OSHM:ATa”
x-cantillationLevel=”0”� 21 ”strong=”c/1932|����/��� x-morph=”OSHM:AC/Pp3ms”
x-cantillationLevel=”1.1.0.0” ”strong=”8133|����������� x-morph=”OSHM:AVhrmsa”
”strong=”5732|��/���������� x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.1.0”
”strong=”c/2166|�/����������/�� x-morph=”OSHM:AC/Ncmpd/Td” x-
cantillationLevel=”1.1” ”strong=”5709|����������� x-morph=”OSHM:AVhrmsa”
”strong=”4430|��������� x-morph=”OSHM:ANcmpa” x-cantillationLevel=”1.0”
”strong=”c/6966|���������/�� x-morph=”OSHM:AC/Vhrmsa” ”strong=”4430|���������
x-morph=”OSHM:ANcmpa” x-cantillationLevel=”1” ”strong=”3052|������
x-morph=”OSHM:AVqrmsa” ”strong=”2452|��/�������� x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”0.1.0” ”strong=”l/2445|�����������/�� x-morph=”OSHM:AR/Ncmpa”
x-cantillationLevel=”0.1” ”strong=”c/4486|�/����������/�� x-morph=”OSHM:AC/Ncmsd/Td”
x-cantillationLevel=”0.0” ”strong=”l/3046|��������/�� x-morph=”OSHM:AR/Vqrmpc”
”strong=”999|������� x-morph=”OSHM:ANcfsa” x-cantillationLevel=”0”�
22 ”strong=”1932|����� x-morph=”OSHM:APp3ms” x-cantillationLevel=”1.0.0”
”strong=”1541|������� x-morph=”OSHM:AVqrmsa” ”strong=”5994|�/�����������
x-morph=”OSHM:AAafpd/Td” x-cantillationLevel=”1.0” strong=”c/5642|�/������������/��
a” x-morph=”OSHM:AC/Vpsfpd/Td” x-cantillationLevel=”1” ”strong=”3046|������
x-morph=”OSHM:AVqrmsa” x-cantillationLevel=”0.1.0” ”strong=”4101|����
x-morph=”OSHM:APfxbs” ”strong=”b/2816|�/���������/�� x-morph=”OSHM:AR/Ncmsd/Td”
x-cantillationLevel=”0.1” strong=”c/5094|�/����/� a” x-morph=”OSHM:AC/Ncmsd/Td”
x-wType=”x-ketiv” 7 ”strong=”5974|��/������ x-morph=”OSHM:AR/Sp3ms”

7+ strong=”c/5094|�/��������/���/����/� a” x-morph=”OSHM:AC/Ncmsd/Td” x-
cantillationLevel=”0.0”
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”strong=”8271|������� x-morph=”OSHM:AVqsmsa” x-cantillationLevel=”0”�
23 ”strong=”l|��/��� x-morph=”OSHM:AR/Sp2ms” x-cantillationLevel=”1.1.1.0”
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x-morph=”OSHM:AC/Ncfsd/Td” x-cantillationLevel=”1.0” ”strong=”3052|����������
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x-morph=”OSHM:ANcfsc” ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.0” ”strong=”3046|���/����������� x-morph=”OSHM:AVhp2ms/Sp1cp”
x-cantillationLevel=”0”� 24 ”strong=”k/3606|�/��� x-morph=”OSHM:AC/C”�������|strong=”6903”
x-morph=”OSHM:AC” ”strong=”1836|������� x-morph=”OSHM:AC” x-
cantillationLevel=”1.2.1” ”strong=”1841|������������ x-morph=”OSHM:ANp”
x-cantillationLevel=”1.2.0” ”strong=”5954|���� x-morph=”OSHM:AVqp3ms”
”strong=”5922|��� x-morph=”OSHM:AR”�����������|strong=”746 b”
x-morph=”OSHM:ANp” x-cantillationLevel=”1.2” ”strong=”1768|����� x-
morph=”OSHM:ATr” x-cantillationLevel=”1.1.0” ”strong=”4483|�������
x-morph=”OSHM:AVpp3ms” ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
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x-morph=”OSHM:ATo/Ncmpc” ”strong=”895|������ x-morph=”OSHM:ANp”
x-cantillationLevel=”0.2.0” ”strong=”409|��� x-morph=”OSHM:ATn”�����������|strong=”7”
x-morph=”OSHM:AVhi2ms” x-cantillationLevel=”0.2” ”strong=”5954|����/�������
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x-cantillationLevel=”0.1” ”strong=”c/6591|�/��������/�� x-morph=”OSHM:AC/Ncmsd/Td”
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x-morph=”OSHM:AC/D” ”strong=”560|����� x-morph=”OSHM:AVqp3ms”��/����|strong=”l”
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morph=”OSHM:ANp” x-cantillationLevel=”0.1” ”strong=”1768|����� x-morph=”OSHM:ATr”
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x-morph=”OSHM:AVqrmsa” x-cantillationLevel=”0.0.1” ”strong=”l/3046|���/����������/��
x-morph=”OSHM:AR/Vhc/Sp1cs” x-cantillationLevel=”0.0.0” ”strong=”2493|�/�������
x-morph=”OSHM:ANcmsd/Td” ”strong=”1768|���� x-morph=”OSHM:ATr”��������|strong=”2370”
x-morph=”OSHM:ATr” x-cantillationLevel=”0.0” ”strong=”c/6591|��/��������/��
x-morph=”OSHM:AC/Ncmsc/Sp3ms” x-cantillationLevel=”0”� 27 ”strong=”6032|������
x-morph=”OSHM:AVqrmsa” ”strong=”1841|���������� x-morph=”OSHM:ANp”
x-cantillationLevel=”1.0.0” ”strong=”6925|������ x-morph=”OSHM:AR”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.0”
”strong=”c/560|������/�� x-morph=”OSHM:AC/Vqrmsa” x-cantillationLevel=”1”
”strong=”7328|��/���� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.2.0”
”strong=”1768|����� x-morph=”OSHM:ATr”�/���������|strong=”4430”
x-morph=”OSHM:ANcmsd/Td” ”strong=”7593|������� x-morph=”OSHM:AVqrmsa”
x-cantillationLevel=”0.2” ”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”2445|�����������
x-morph=”OSHM:ANcmpa” ”strong=”826|����������� x-morph=”OSHM:ANcmpa”
x-cantillationLevel=”0.1.1” ”strong=”2749|������������ x-morph=”OSHM:ANcmpa”
x-cantillationLevel=”0.1.0” ”strong=”1505|���������� x-morph=”OSHM:AVqrmpa”
x-cantillationLevel=”0.1” ”strong=”3202|��������� x-morph=”OSHM:AVqrmpa”
x-cantillationLevel=”0.0” ”strong=”l/2324|�����������/�� x-morph=”OSHM:AR/Vhc”
”strong=”l/4430|�/��������/�� x-morph=”OSHM:AR/Ncmsd/Td” x-cantillationLevel=”0”�
28 ”strong=”1297|������� x-morph=”OSHM:AC” x-cantillationLevel=”1.2.0.1”
”strong=”383|������� x-morph=”OSHM:ATa” x-cantillationLevel=”1.2.0.0”
”strong=”426|������� x-morph=”OSHM:ANcmsa” ”strong=”b/8065|��/��������/���
x-morph=”OSHM:AR/Ncmpd/Td” x-cantillationLevel=”1.2.0” ”strong=”1541|�������
x-morph=”OSHM:AVqrmsa” ”strong=”7328|������� x-morph=”OSHM:ANcmpa”
x-cantillationLevel=”1.2” ”strong=”c/3046|�������/�� x-morph=”OSHM:AC/Vhp3ms”
x-cantillationLevel=”1.1.1” ”strong=”l/4430|��/�������/�� x-morph=”OSHM:AR/Ncmsd/Td”
x-cantillationLevel=”1.1.0” ”strong=”5020|����������������� x-morph=”OSHM:ANp”
8+ ”strong=”d/383|��/������/����/����/� x-morph=”OSHM:ATi/Ta/Sp2ms”
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x-cantillationLevel=”1.1” ”strong=”4101|���� x-morph=”OSHM:APfxbs” x-
cantillationLevel=”1.0.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”1934|��������
x-morph=”OSHM:AVqi3ms” x-cantillationLevel=”1.0” ”strong=”b/320|���������/���
x-morph=”OSHM:AR/Ncfsc” ”strong=”3118|�/��������� x-morph=”OSHM:ANcmpd/Td”
x-cantillationLevel=”1” ”strong=”2493|��/������� x-morph=”OSHM:ANcmsc/Sp2ms”
”strong=”c/2376|��������/�� x-morph=”OSHM:AC/Ncmpc” ”strong=”7217|��/�������
x-morph=”OSHM:ANcmsc/Sp2ms” x-cantillationLevel=”0.0.0” ”strong=”5922|����
x-morph=”OSHM:AR”��/������������|strong=”4903” x-morph=”OSHM:ANcmsc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”1836|������� x-morph=”OSHM:APdxms”
”strong=”1932|����� x-morph=”OSHM:ATa” x-cantillationLevel=”0”� �
29 ”strong=”607|��������� x-morph=”OSHM:APp2ms” 9Marks an anoma-
lous form. 10 ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.1.1” ”strong=”7476|���/��������� x-morph=”OSHM:ANcmpc/Sp2ms”
x-cantillationLevel=”1.1.0” ”strong=”5922|��� x-morph=”OSHM:AR”��/������������|strong=”4903”
x-morph=”OSHM:ANcmsc/Sp2ms” ”strong=”5559|�������� x-morph=”OSHM:AVqp3mp”
x-cantillationLevel=”1.1” ”strong=”4101|���� x-morph=”OSHM:APfxbs” x-
cantillationLevel=”1.0.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”1934|��������
x-morph=”OSHM:AVqi3ms” x-cantillationLevel=”1.0” ”strong=”311|��������
x-morph=”OSHM:AR” ”strong=”1836|������ x-morph=”OSHM:APdxms”
x-cantillationLevel=”1” ”strong=”c/1541|������/�� x-morph=”OSHM:AC/Vqrmsc”
”strong=”7328|�/�������� x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”0.0.0”
”strong=”3046|��/�������� x-morph=”OSHM:AVhp3ms/Sp2ms” x-cantillationLevel=”0.0”
”strong=”4101|��� x-morph=”OSHM:APfxbs”�����|strong=”1768” x-morph=”OSHM:ATr”
”strong=”1934|�������� x-morph=”OSHM:AVqi3ms” x-cantillationLevel=”0”�
30 strong=”c/576|������/�� b” x-morph=”OSHM:AC/Pp1cs” x-cantillationLevel=”1.1.2”
”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”b/2452|��������/��
x-morph=”OSHM:AR/Ncfsa” x-cantillationLevel=”1.1.1” ”strong=”1768|�����
x-morph=”OSHM:ATr”��������|strong=”383” x-morph=”OSHM:ATa” ”strong=”b|��/���
x-morph=”OSHM:AR/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”4481|���
x-morph=”OSHM:AR”�����|strong=”3606” x-morph=”OSHM:ANcmsc”�/����������|strong=”2417”
x-morph=”OSHM:AAampd/Td” x-cantillationLevel=”1.1” ”strong=”7328|�/�����
x-morph=”OSHM:ANcmsd/Td” ”strong=”1836|������ x-morph=”OSHM:APdxms”
x-cantillationLevel=”1.0” ”strong=”1541|������� x-morph=”OSHM:AVQp3ms”
”strong=”l|�/��� x-morph=”OSHM:AR/Sp1cs” x-cantillationLevel=”1” ”strong=”3861|������
x-morph=”OSHM:AC” x-cantillationLevel=”0.1.2” ”strong=”5922|��� x-morph=”OSHM:AR”����������|strong=”1701”
x-morph=”OSHM:ANcfsc” x-cantillationLevel=”0.1.1” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”6591|��/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.1.0” ”strong=”l/4430|�/��������/�� x-morph=”OSHM:AR/Ncmsd/Td”
”strong=”3046|������������ x-morph=”OSHM:AVhi3mp” x-cantillationLevel=”0.1”
”strong=”c/7476|�����������/�� x-morph=”OSHM:AC/Ncmpc” ”strong=”3825|��/�������
x-morph=”OSHM:ANcmsc/Sp2ms” x-cantillationLevel=”0.0” ”strong=”3046|����������
x-morph=”OSHM:AVqi2ms” x-cantillationLevel=”0”� 31 ”strong=”607|���������

9n
10q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
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x-morph=”OSHM:APp2ms” 11Marks an anomalous form. 12 ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1.2” ”strong=”2370|������
x-morph=”OSHM:AVhrmsa” ”strong=”1934|���������� x-morph=”OSHM:AVqp2ms”
x-cantillationLevel=”1.1.1” ”strong=”c/431|������/�� x-morph=”OSHM:AC/Tm”
”strong=”6755|������ x-morph=”OSHM:ANcmsa” ”strong=”2298|����
x-morph=”OSHM:AAcmsa” x-cantillationLevel=”1.1.0” ”strong=”7690|���������
x-morph=”OSHM:AAamsa” x-cantillationLevel=”1.1” ”strong=”6755|�/�������
x-morph=”OSHM:ANcmsd/Td” ”strong=”1797|�������� x-morph=”OSHM:APdxbs”
”strong=”7229|���� x-morph=”OSHM:AAamsa” x-cantillationLevel=”1.0.0”
”strong=”c/2122|��/������/�� x-morph=”OSHM:AC/Ncmsc/Sp3ms” ”strong=”3493|��������
x-morph=”OSHM:AAamsa” x-cantillationLevel=”1.0” ”strong=”6966|������
x-morph=”OSHM:AVqrmsa” ”strong=”l/6903|��/�������/�� x-morph=”OSHM:AR/R/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/7299|��/�����/�� x-morph=”OSHM:AC/Ncmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”1763|�������� x-morph=”OSHM:AVQsmsa”
x-cantillationLevel=”0”� 32 ”strong=”1932|����� x-morph=”OSHM:APd3ms”
”strong=”6755|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1.1”
”strong=”7217|���/������ x-morph=”OSHM:ANcmsc/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”1768|����� x-morph=”OSHM:ATr”�������|strong=”1722” x-
morph=”OSHM:ANcmsa” ”strong=”2869|���� x-morph=”OSHM:AAamsa”
x-cantillationLevel=”1.1” ”strong=”2306|���/������ x-morph=”OSHM:ANcmsc/Sp3ms”
”strong=”c/1872|���/��������/�� x-morph=”OSHM:AC/Ncfpc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”3702|������
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1” ”strong=”4577|���/������
x-morph=”OSHM:ANcmpc/Sp3ms” ”strong=”c/3410|��/���������/�� x-
morph=”OSHM:AC/Ncfpc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”5174|������� x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”0”� 33 ”strong=”8243|���/������� x-morph=”OSHM:ANcfpc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”6523|��������
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1” ”strong=”7271|���/��������
x-morph=”OSHM:ANcfpc/Sp3ms” x-cantillationLevel=”0.2” ”strong=”4481|���/��
x-morph=”OSHM:AR/Sp3mp” x-wType=”x-ketiv” 13 ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”6523|�������� x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”0.1” ”strong=”c/4481|���/��/� x-morph=”OSHM:AC/R/Sp3mp”
x-wType=”x-ketiv” 14 ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”2635|������
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”0”� 34 ”strong=”2370|������
x-morph=”OSHM:AVqrmsa” ”strong=”1934|��������� x-morph=”OSHM:AVqp2ms”
x-cantillationLevel=”1.2.1” ”strong=”5705|���� x-morph=”OSHM:AR” x-
cantillationLevel=”1.2.0.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”1505|�������������
x-morph=”OSHM:AVup3fs” ”strong=”69|������� x-morph=”OSHM:ANcfsa”

11n
12q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
13+ ”strong=”4481|�����/��������/�� x-morph=”OSHM:AR/Sp3fp” x-
cantillationLevel=”0.1.0”
14+ ”strong=”c/4481|�����/�����/�����/��/� x-morph=”OSHM:AC/R/Sp3fp” x-
cantillationLevel=”0.0”
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x-cantillationLevel=”1.2.0” ”strong=”1768|���� x-morph=”OSHM:ATr”�����|strong=”3809”
x-morph=”OSHM:ATn” ”strong=”b/3028|�������/�� x-morph=”OSHM:AR/Ncfda”
x-cantillationLevel=”1.2” ”strong=”c/4223|������/�� x-morph=”OSHM:AC/Vqp3fs”
”strong=”l/6755|��/������/�� x-morph=”OSHM:AR/Ncmsd/Td” x-cantillationLevel=”1.1.0”
”strong=”5922|��� x-morph=”OSHM:AR”���/���������|strong=”7271”
x-morph=”OSHM:ANcfpc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”6523|�/��������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.0” ”strong=”c/2635|�/��������/�� x-morph=”OSHM:AC/Ncmsd/Td”
x-cantillationLevel=”1” ”strong=”c/1855|���������/�� x-morph=”OSHM:AC/Vhp3fs”
x-cantillationLevel=”0.0” ”strong=”1994|�������� x-morph=”OSHM:APp3mp”
x-cantillationLevel=”0”� 35 ”strong=”b/116|�������/��� x-morph=”OSHM:AR/D”
”strong=”1855|������� x-morph=”OSHM:AVqp3mp” ”strong=”k/2298|������/��
x-morph=”OSHM:AR/Acfsa” x-cantillationLevel=”1.2.1.1” ”strong=”6523|��/���������
x-morph=”OSHM:ANcmsd/Td” ”strong=”2635|�/�������� x-morph=”OSHM:ANcmsd/Td”
”strong=”5174|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.2.1.0”
”strong=”3702|�/��������� x-morph=”OSHM:ANcmsd/Td” ”strong=”c/1722|�/�������/��
x-morph=”OSHM:AC/Ncmsd/Td” x-cantillationLevel=”1.2.1” ”strong=”c/1934|������/��
x-morph=”OSHM:AC/Vqp3mp” x-cantillationLevel=”1.2.0” ”strong=”k/5784|�����/���
x-morph=”OSHM:AR/Ncmsa” ”strong=”4481|��� x-morph=”OSHM:AR”���������|strong=”147”
x-morph=”OSHM:ANcmpc”�������|strong=”7007” x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”1.2” ”strong=”c/5376|�������/�� x-morph=”OSHM:AC/Vqp3ms”
”strong=”1994|�������� x-morph=”OSHM:APp3mp” x-cantillationLevel=”1.1.0”
”strong=”7308|�/������ x-morph=”OSHM:ANcfsd/Td” x-cantillationLevel=”1.1”
”strong=”c/3606|���/�� x-morph=”OSHM:AC/Ncmsc”�������|strong=”870”
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.0” ”strong=”3809|��� x-
morph=”OSHM:ATn”�������������|strong=”7912” x-morph=”OSHM:AVup3ms”
”strong=”l|�����/�� x-morph=”OSHM:AR/Sp3mp” x-cantillationLevel=”1”
”strong=”c/69|�/�������/�� x-morph=”OSHM:AC/Ncfsd/Td” x-cantillationLevel=”0.0.1.0”
� ”strong=”1768|����� x-morph=”OSHM:ATr”�������|strong=”4223”
x-morph=”OSHM:AVqp3fs” ”strong=”l/6755|�/�������/�� x-morph=”OSHM:AR/Ncmsd/Td”
x-cantillationLevel=”0.0.1” ”strong=”1934|������ x-morph=”OSHM:AVqp3fs”
x-cantillationLevel=”0.0.0” ”strong=”l/2906|�����/�� x-morph=”OSHM:AR/Ncmsa”
”strong=”7229|���� x-morph=”OSHM:AAamsa” x-cantillationLevel=”0.0”
”strong=”c/4391|������/�� x-morph=”OSHM:AC/Vqp3fs” ”strong=”3606|����
x-morph=”OSHM:ANcmsc”�/��������|strong=”772” x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”0”� 36 ”strong=”1836|������� x-morph=”OSHM:APdxms”
”strong=”2493|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1”
”strong=”c/6591|��/��������/�� x-morph=”OSHM:AC/Ncmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”560|������� x-morph=”OSHM:AVqi1cp”
”strong=”6925|����� x-morph=”OSHM:AR”�/���������|strong=”4430”
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0”� 37 ”strong=”607|���������
x-morph=”OSHM:APp2ms” 15Marks an anomalous form. 16 ”strong=”4430|�/��������

15n
16q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
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x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1” ”strong=”4430|�������
x-morph=”OSHM:ANcmsc” x-cantillationLevel=”1.0” ”strong=”4430|�/����������
x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1” ”strong=”1768|�����
x-morph=”OSHM:ATr” x-cantillationLevel=”0.1.0” ”strong=”426|�������
x-morph=”OSHM:ANcmsc” ”strong=”8065|�/��������� x-morph=”OSHM:ANcmpd/Td”
x-cantillationLevel=”0.1” ”strong=”4437|�/���������� x-morph=”OSHM:ANcfsd/Td”
”strong=”2632|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.0.0”
strong=”c/8632|�/��������/�� b” x-morph=”OSHM:AC/Ncmsd/Td” ”strong=”c/3367|�/������/���
x-morph=”OSHM:AC/Ncmsd/Td” x-cantillationLevel=”0.0” ”strong=”3052|�����
x-morph=”OSHM:AVqp3ms”��/����|strong=”l” x-morph=”OSHM:AR/Sp2ms”
x-cantillationLevel=”0”� 38 ”strong=”c/b/3606|���/��/�� x-morph=”OSHM:AC/R/Ncmsa”������|strong=”1768”
x-morph=”OSHM:ATr” ”strong=”1753|����� x-morph=”OSHM:AVqrmpa”
x-wType=”x-ketiv” 17 ”strong=”1123|������� x-morph=”OSHM:ANcmpc”�/���������|strong=”606”
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1.0.0” ”strong=”2423|�������
x-morph=”OSHM:ANcfsc” ”strong=”1251|�/������ x-morph=”OSHM:ANcmsd/Td”
”strong=”c/5776|����/�� x-morph=”OSHM:AC/Ncmsc”��/���������|strong=”8065”
x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.1.0” ”strong=”3052|������
x-morph=”OSHM:AVqp3ms” ”strong=”b/3028|��/����/��� x-morph=”OSHM:AR/Ncfsc/Sp2ms”
x-cantillationLevel=”1.1” ”strong=”c/7981|��/����������/�� x-morph=”OSHM:AC/Vhp3ms/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”b/3606|�����/�����/��� x-morph=”OSHM:AR/Ncmsc/Sp3mp”
x-cantillationLevel=”1” ”strong=”607|�������� x-morph=”OSHM:APp2ms”������|strong=”1932”
x-morph=”OSHM:ATa” x-cantillationLevel=”0.1” 18Marks an anomalous form.
19 ”strong=”7217|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.0”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”1722|�/�������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0”� 39 ”strong=”c/870|��/�������/��
x-morph=”OSHM:AC/Ncmsc/Sp2ms” x-cantillationLevel=”1.0.1” ”strong=”6966|��������
x-morph=”OSHM:AVqi3fs” x-cantillationLevel=”1.0.0” ”strong=”4437|��������
x-morph=”OSHM:ANcfsa” ”strong=”317|�������� x-morph=”OSHM:AAafsa”
x-cantillationLevel=”1.0” ”strong=”772|�/��� x-morph=”OSHM:ANcfsc/Sd”
x-wType=”x-ketiv” 20 21WLC has this word divided as .���� 22 ”strong=”4481|��/������
x-morph=”OSHM:AR/Sp2ms” x-cantillationLevel=”1” ”strong=”c/4437|��������/��
x-morph=”OSHM:AC/Ncfsa” strong=”8523|������ b” x-morph=”OSHM:AAobsd”
x-wType=”x-ketiv” 23 ”strong=”317|�������� x-morph=”OSHM:AAafsa”
x-cantillationLevel=”0.1.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”5174|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”7981|��������� x-morph=”OSHM:AVqi3fs”
x-cantillationLevel=”0.0” ”strong=”b/3606|���/��� x-morph=”OSHM:AR/Ncmsc”�/��������|strong=”772”
x-morph=”OSHM:ANcfsd/Td” x-cantillationLevel=”0”� 40 ”strong=”c/4437|��������/��
17+ ”strong=”1753|��������������� x-morph=”OSHM:AVqrmpa”
18n
19q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
20+ ”strong=”772|������/��� x-morph=”OSHM:ANcfsd”
21+
221 BHS has been faithful to the Leningrad Codex where there might be a question of the validity
of the form and we keep the same form as BHS.
23+ strong=”8523|����������������� b” x-morph=”OSHM:AAofsa”
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x-morph=”OSHM:AC/Ncfsa” x-cantillationLevel=”1.1.0” ”strong=”7244|������
x-morph=”OSHM:AAobsd” x-wType=”x-ketiv” 24 ”strong=”1934|���������
x-morph=”OSHM:AVqi3fs” ”strong=”8624|���������� x-morph=”OSHM:AAafsa”
x-cantillationLevel=”1.0” ”strong=”k/6523|�/���������/��� x-morph=”OSHM:AR/Ncmsd/Td”
x-cantillationLevel=”1” ”strong=”k/3606|�/��� x-morph=”OSHM:AC/C”�������|strong=”6903”
x-morph=”OSHM:AC” x-cantillationLevel=”0.1.2” ”strong=”1768|����� x-
morph=”OSHM:AC” ”strong=”6523|��/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.1.1” ”strong=”1855|��������� x-morph=”OSHM:AVhrmsa”
”strong=”c/2827|�������/�� x-morph=”OSHM:AC/Vqrmsa” x-cantillationLevel=”0.1.0”
”strong=”3606|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1”
”strong=”c/k/6523|�/���������/��/��� x-morph=”OSHM:AC/R/Ncmsd/Td”
x-cantillationLevel=”0.0.0” ”strong=”1768|����� x-morph=”OSHM:ATr”���������|strong=”7490”
x-morph=”OSHM:AVqrmsa” ”strong=”3606|���� x-morph=”OSHM:ANcmsc”���������|strong=”459”
x-morph=”OSHM:APdxbp” x-cantillationLevel=”0.0” ”strong=”1855|��������
x-morph=”OSHM:AVhi3fs” ”strong=”c/7490|�������/�� x-morph=”OSHM:AC/Vqi3fs”
x-cantillationLevel=”0”� 41 ”strong=”c/1768|����/�� x-morph=”OSHM:AC/C”�����������|strong=”2370”
x-morph=”OSHM:AVqp2ms” x-cantillationLevel=”1.2.1.0” ”strong=”7271|�/����������
x-morph=”OSHM:ANcfpd/Td” ”strong=”c/677|�/������������/�� x-morph=”OSHM:AC/Ncfpd/Td”
x-cantillationLevel=”1.2.1” ”strong=”4481|���/�� x-morph=”OSHM:AR/Sp3mp”
x-wType=”x-ketiv” 25 26We read one or more consonants in L differently from
BHS. ”strong=”2635|������ x-morph=”OSHM:ANcmsa” ”strong=”1768|�����
x-morph=”OSHM:ATr”�������|strong=”6353” x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”1.2.0” ”strong=”c/4481|���/��/� x-morph=”OSHM:AC/R/Sp3mp”
x-wType=”x-ketiv” 27 ”strong=”6523|��������� x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”1.2” ”strong=”4437|�������� x-morph=”OSHM:ANcfsa”
”strong=”6386|��������� x-morph=”OSHM:AVQsfsa” x-cantillationLevel=”1.1.0”
”strong=”1934|��������� x-morph=”OSHM:AVqi3fs” x-cantillationLevel=”1.1”
”strong=”c/4481|���/�� x-morph=”OSHM:AC/R”�/�����������|strong=”5326”
x-morph=”OSHM:ANcfsd/Td” ”strong=”1768|���� x-morph=”OSHM:ATr”
”strong=”6523|�/��������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.0”
”strong=”1934|�������� x-morph=”OSHM:AVqi3ms”��/����|strong=”b”
x-morph=”OSHM:AR/Sp3ms” x-cantillationLevel=”1” ”strong=”k/3606|�/���
x-morph=”OSHM:AC/C”�������|strong=”6903” x-morph=”OSHM:AC” x-
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x-morph=”OSHM:AR/Ncmsc” ”strong=”2917|�/������ x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0”� 42 ”strong=”c/677|�����������/�� x-morph=”OSHM:AC/Ncfpc”
x-cantillationLevel=”1.1.0” ”strong=”7271|�/���������� x-morph=”OSHM:ANcfpd/Td”
24+ ”strong=”7244|������������������ x-morph=”OSHM:AAofsa” x-
cantillationLevel=”1.1”
25+ ”strong=”4481|����/��������/�� x-morph=”OSHM:AR/Sp3fp” x-
cantillationLevel=”1.2.0.0”
26k
27+ ”strong=”c/4481|�����/�����/�����/��/� x-morph=”OSHM:AC/R/Sp3fp”
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”strong=”1836|������� x-morph=”OSHM:APdxms” ”strong=”5974|���
x-morph=”OSHM:AR”��������|strong=”1836” x-morph=”OSHM:APdxms”
x-cantillationLevel=”1” strong=”1888|���� b” x-morph=”OSHM:ATm”����/���|strong=”k/1768”
x-morph=”OSHM:AC/C” ”strong=”6523|�/��������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.1” ”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”6151|����������
x-morph=”OSHM:AVMrmsa” x-cantillationLevel=”0.0” ”strong=”5974|���
x-morph=”OSHM:AR”�/���������|strong=”2635” x-morph=”OSHM:ANcmsd/Td”
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”strong=”321|�������� x-morph=”OSHM:AAamsa” x-cantillationLevel=”1.0”

28+ ”strong=”4481|�����/��������/�� x-morph=”OSHM:AR/Sp3fp”
29+ ”strong=”c/4481|�����/�����/�����/��/� x-morph=”OSHM:AC/R/Sp3fp”
30+ ”strong=”c/1768|����/���� x-morph=”OSHM:AC/C”
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”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”7662|������������
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x-morph=”OSHM:AR/Ncfda” x-cantillationLevel=”1.2.1” ”strong=”c/1855|��������/���
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”strong=”3702|�/��������� x-morph=”OSHM:ANcmsd/Td” ”strong=”c/1722|�/�������/��
x-morph=”OSHM:AC/Ncmsd/Td” x-cantillationLevel=”1.2” ”strong=”426|�������
x-morph=”OSHM:ANcmsa” ”strong=”7229|���� x-morph=”OSHM:AAamsa”
x-cantillationLevel=”1.1.0” ”strong=”3046|������� x-morph=”OSHM:AVhp3ms”
”strong=”l/4430|�/��������/�� x-morph=”OSHM:AR/Ncmsd/Td” x-cantillationLevel=”1.1”
”strong=”4101|���� x-morph=”OSHM:APfxbs” x-cantillationLevel=”1.0.0”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”1934|��������
x-morph=”OSHM:AVqi3ms” x-cantillationLevel=”1.0” ”strong=”311|��������
x-morph=”OSHM:AR” ”strong=”1836|������ x-morph=”OSHM:APdxms”
x-cantillationLevel=”1” ”strong=”c/3330|��������/�� x-morph=”OSHM:AC/Aamsa”
”strong=”2493|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.0”
”strong=”c/540|���������/�� x-morph=”OSHM:AC/Vhsmsa” ”strong=”6591|��/���������
x-morph=”OSHM:ANcmsc/Sp3ms” x-cantillationLevel=”0”� � 46 ”strong=”b/116|������/����
x-morph=”OSHM:AR/D” x-cantillationLevel=”1.1.0.0” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” ”strong=”5020|����������������� x-
morph=”OSHM:ANp” x-cantillationLevel=”1.1.0” ”strong=”5308|������
x-morph=”OSHM:AVqp3ms” ”strong=”5922|��� x-morph=”OSHM:AR”���/����������|strong=”600”
x-morph=”OSHM:ANcmpc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”c/l/1841|����������/��/��
x-morph=”OSHM:AC/R/Np” x-cantillationLevel=”1.0” ”strong=”5457|������
x-morph=”OSHM:AVqp3ms” x-cantillationLevel=”1” ”strong=”c/4504|��������/��
x-morph=”OSHM:AC/Ncfsa” x-cantillationLevel=”0.1.0” ”strong=”c/5208|�����������/��
x-morph=”OSHM:AC/Ncmpa” x-cantillationLevel=”0.1” ”strong=”560|������
x-morph=”OSHM:AVqp3ms” x-cantillationLevel=”0.0” ”strong=”l/5260|���������/��
x-morph=”OSHM:AR/Vpc” ”strong=”l|��/��� x-morph=”OSHM:AR/Sp3ms”
x-cantillationLevel=”0”� 47 ”strong=”6032|������ x-morph=”OSHM:AVqrmsa”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” ”strong=”l/1841|����������/��
x-morph=”OSHM:AR/Np” x-cantillationLevel=”1.0.3.0” ”strong=”c/560|������/��
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x-morph=”OSHM:AC/Vqrmsa” x-cantillationLevel=”1.0.3” ”strong=”4481|���
x-morph=”OSHM:AR”��������|strong=”7187” x-morph=”OSHM:ANcmsa”
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”strong=”426|��������� x-morph=”OSHM:ANcmpa” x-cantillationLevel=”1.0.0”
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�3 ”strong=”5020|���������������� x-morph=”OSHM:ANp” ”strong=”4430|�/��������

x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.2.1” ”strong=”5648|������
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x-cantillationLevel=”1” ”strong=”l/858|������/�� x-morph=”OSHM:AR/Vqc”
x-cantillationLevel=”0.1.0” ”strong=”l/2597|���������/�� x-morph=”OSHM:AR/Ncfsc”
”strong=”6755|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”6966|������� x-
morph=”OSHM:AVhp3ms” x-cantillationLevel=”0.0” ”strong=”5020|����������������
x-morph=”OSHM:ANp” ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0”� 3 ”strong=”b/116|�������/��� x-morph=”OSHM:AR/D”
x-cantillationLevel=”1.2.1.4” ”strong=”3673|����������������� x-morph=”OSHM:AVMrmpa”
x-cantillationLevel=”1.2.1.3” ”strong=”324|�/���������������������
x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.2.1.2” ”strong=”5460|�/����������
x-morph=”OSHM:ANcmpd/Td” ”strong=”c/6347|�/���������/��� x-morph=”OSHM:AC/Ncmpd/Td”
x-cantillationLevel=”1.2.1.1” ”strong=”148|�/����������������� x-morph=”OSHM:ANcmpd/Td”
”strong=”1411|��/����������� x-morph=”OSHM:ANcmpd/Td” ”strong=”1884|�/��������������
x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.2.1.0” ”strong=”8614|�/�����������
x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.2.1” ”strong=”c/3606|����/��
x-morph=”OSHM:AC/Ncmsc” x-cantillationLevel=”1.2.0” ”strong=”7984|�����������
x-morph=”OSHM:ANcmpc” ”strong=”4083|�/����������� x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”1.2” ”strong=”l/2597|���������/�� x-morph=”OSHM:AC/Ncfsc”
”strong=”6755|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”6966|������� x-
morph=”OSHM:AVhp3ms” x-cantillationLevel=”1.0” ”strong=”5020|����������������
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x-morph=”OSHM:ANp” ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1” ”strong=”c/6966|�����/� x-morph=”OSHM:AC/Vqrmpa”
x-wType=”x-ketiv” 31 ”strong=”l/6903|������/�� x-morph=”OSHM:AR/R”
”strong=”6755|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”6966|������� x-
morph=”OSHM:AVhp3ms” x-cantillationLevel=”0.0” ”strong=”5020|����������������
x-morph=”OSHM:ANp” x-cantillationLevel=”0”� 4 ”strong=”c/3744|�/��������/��
x-morph=”OSHM:AC/Ncmsd/Td” x-cantillationLevel=”1.0” ”strong=”7123|������
x-morph=”OSHM:AVqrmsa” ”strong=”b/2429|������/�� x-morph=”OSHM:AR/Ncmsa”
x-cantillationLevel=”1” ”strong=”l|�����/�� x-morph=”OSHM:AR/Sp2mp”
”strong=”560|���������� x-morph=”OSHM:AVqrmpa” x-cantillationLevel=”0.1.0”
”strong=”5972|�/����������� x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”0.1”
”strong=”524|�/��������� x-morph=”OSHM:ANcfpd/Td” x-cantillationLevel=”0.0”
”strong=”c/3961|�/������������/�� x-morph=”OSHM:AC/Ncmpd/Td”
x-cantillationLevel=”0”� 5 ”strong=”b/5732|�/��������/��� x-morph=”OSHM:AR/Ncmsd/Td”
x-cantillationLevel=”1.1.0.2” ”strong=”1768|����� x-morph=”OSHM:ATr”�������������|strong=”8086”
x-morph=”OSHM:AVqi2mp” x-cantillationLevel=”1.1.0.1” ”strong=”7032|����
x-morph=”OSHM:ANcmsc” ”strong=”7162|�/������� x-morph=”OSHM:ANcfsd/Td”
”strong=”4953|�/�������������� x-morph=”OSHM:ANcfsd/Td” x-cantillationLevel=”1.1.0.0”
”strong=”7030|������ x-morph=”OSHM:ANcmsa” x-wType=”x-ketiv” 32
”strong=”5443|��������� x-morph=”OSHM:ANcfsa” ”strong=”6460|���������������
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.1.0” ”strong=”5481|���������������
x-morph=”OSHM:ANcfsa” x-cantillationLevel=”1.1” ”strong=”c/3606|����/��
x-morph=”OSHM:AC/Ncmsc” x-cantillationLevel=”1.0” ”strong=”2178|������
x-morph=”OSHM:ANcmpc” ”strong=”2170|�/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1” ”strong=”5308|����������� x-morph=”OSHM:AVqi2mp”
”strong=”c/5457|������������/�� x-morph=”OSHM:AC/Vqi2mp” x-cantillationLevel=”0.1.0”
”strong=”l/6755|������/�� x-morph=”OSHM:AR/Ncmsc” ”strong=”1722|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”6966|������� x-morph=”OSHM:AVhp3ms”
x-cantillationLevel=”0.0” ”strong=”5020|���������������� x-morph=”OSHM:ANp”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0”�
6 ”strong=”c/4479|���/�� x-morph=”OSHM:AC/Pf3bs”�����|strong=”1768”
x-morph=”OSHM:APf3bs”�����|strong=”3809” x-morph=”OSHM:ATn” ”strong=”5308|�������
x-morph=”OSHM:AVqi3ms” x-cantillationLevel=”1.0” ”strong=”c/5457|���������/��
x-morph=”OSHM:AC/Vqi3ms” x-cantillationLevel=”1” ”strong=”b|��/���
x-morph=”OSHM:AR/Sp3ms”�/���������|strong=”8160” x-morph=”OSHM:ANcfsd/Td”
”strong=”7412|���������� x-morph=”OSHM:AVui3ms” x-cantillationLevel=”0.1”
”strong=”l/1459|�����/�� x-morph=”OSHM:AR/Ncmsc”���������|strong=”861”
x-morph=”OSHM:ANcmsc” ”strong=”5135|�/������ x-morph=”OSHM:ANcbsd/Td”
x-cantillationLevel=”0.0” ”strong=”3345|�/����������� x-morph=”OSHM:AVqrfsd/Td”
x-cantillationLevel=”0”� 7 ”strong=”k/3606|�/��� x-morph=”OSHM:AC/C”�������|strong=”6903”

31+ ”strong=”c/6966|����������/�������/� x-morph=”OSHM:AC/Vqrmpa” x-
cantillationLevel=”0.1.0”
32+ ”strong=”7030|��������������� x-morph=”OSHM:ANcmsa”
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x-morph=”OSHM:AC” ”strong=”1836|������� x-morph=”OSHM:AC” x-
cantillationLevel=”1.1.0.3” ”strong=”b|��/��� x-morph=”OSHM:AR/Sp3ms”�/��������|strong=”2166”
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1.0.2” ”strong=”k/1768|����/���
x-morph=”OSHM:AR/Tr” ”strong=”8086|����������� x-morph=”OSHM:AVqrmpa”
”strong=”3606|����� x-morph=”OSHM:ANcmsc”�/�����������|strong=”5972”
x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.1.0.1” ”strong=”7032|����
x-morph=”OSHM:ANcmsc” ”strong=”7162|��/������ x-morph=”OSHM:ANcfsd/Td”
”strong=”4953|�/��������������� x-morph=”OSHM:ANcfsd/Td” x-cantillationLevel=”1.1.0.0”
”strong=”7030|����� x-morph=”OSHM:ANcmsa” x-wType=”x-ketiv” 33 ”strong=”5443|����������
x-morph=”OSHM:ANcfsa” x-cantillationLevel=”1.1.0” ”strong=”6460|��������������
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.1” ”strong=”c/3606|����/��
x-morph=”OSHM:AC/Ncmsc” x-cantillationLevel=”1.0” ”strong=”2178|������
x-morph=”OSHM:ANcmpc” ”strong=”2170|�/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1” ”strong=”5308|���������� x-morph=”OSHM:AVqrmpa”
”strong=”3606|����� x-morph=”OSHM:ANcmsc”�/������������|strong=”5972”
x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”0.1.1.0” ”strong=”524|�/��������
x-morph=”OSHM:ANcfpd/Td” ”strong=”c/3961|�/������������/�� x-
morph=”OSHM:AC/Ncmpd/Td” x-cantillationLevel=”0.1.1” ”strong=”5457|����������
x-morph=”OSHM:AVqrmpa” x-cantillationLevel=”0.1.0” ”strong=”l/6755|������/��
x-morph=”OSHM:AR/Ncmsc” ”strong=”1722|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.1” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”6966|�������
x-morph=”OSHM:AVhp3ms” x-cantillationLevel=”0.0” ”strong=”5020|����������������
x-morph=”OSHM:ANp” ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0”� 8 ”strong=”k/3606|�/��� x-morph=”OSHM:AC/C”�������|strong=”6903”
x-morph=”OSHM:AC” ”strong=”1836|������� x-morph=”OSHM:AC” x-
cantillationLevel=”1.1.0” ”strong=”b|��/��� x-morph=”OSHM:AR/Sp3ms”�/��������|strong=”2166”
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1” ”strong=”7127|��������
x-morph=”OSHM:AVqp3mp” x-cantillationLevel=”1.0” ”strong=”1400|����������
x-morph=”OSHM:ANcmpa” ”strong=”3779|�������������� x-morph=”OSHM:ANgmpa”
x-cantillationLevel=”1” ”strong=”c/399|��������/�� x-morph=”OSHM:AC/Vqp3mp”
”strong=”7170|�����/������� x-morph=”OSHM:ANcmpc/Sp3mp” x-cantillationLevel=”0.0”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”3062|�/����������
x-morph=”OSHM:ANgmpd/Td” x-cantillationLevel=”0”� 9 ”strong=”6032|������
x-morph=”OSHM:AVqp3mp” x-cantillationLevel=”1.1.0” ”strong=”c/560|����������/��
x-morph=”OSHM:AC/Vqrmpa” x-cantillationLevel=”1.1” ”strong=”l/5020|����������������/��
x-morph=”OSHM:AR/Np” x-cantillationLevel=”1.0” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.0” ”strong=”l/5957|���������/��
x-morph=”OSHM:AR/Ncmpa” ”strong=”2418|������ x-morph=”OSHM:AVqv2ms”
x-cantillationLevel=”0”� 10 ”strong=”607|���� x-morph=”OSHM:APp2ms”
x-wType=”x-ketiv” 34 ”strong=”4430|��/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.2.0” ”strong=”7761|��������� x-morph=”OSHM:AVqp2ms”
”strong=”2942|������� x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.2”

33+ ”strong=”7030|�������������� x-morph=”OSHM:ANcmsa”
34+ ”strong=”607|������������ x-morph=”OSHM:APp2ms”



CONTENTS 29

”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”3606|��� x-morph=”OSHM:ANcmsc”��������|strong=”606”
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.1.0.2” ”strong=”1768|�����
x-morph=”OSHM:ATr”����������|strong=”8086” x-morph=”OSHM:AVqi3ms”
x-cantillationLevel=”1.1.0.1” ”strong=”7032|���� x-morph=”OSHM:ANcmsc”
”strong=”7162|�/������� x-morph=”OSHM:ANcfsd/Td” ”strong=”4953|�/�������������
x-morph=”OSHM:ANcfsd/Td” x-cantillationLevel=”1.1.0.0” ”strong=”7030|�����
x-morph=”OSHM:ANcmsa” x-wType=”x-ketiv” 35 ”strong=”5443|����������
x-morph=”OSHM:ANcfsa” ”strong=”6460|�������������� x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”1.1.0” ”strong=”c/5481|������/� x-morph=”OSHM:AC/Ncfsa”
x-wType=”x-ketiv” 36 ”strong=”c/3606|����/�� x-morph=”OSHM:AC/Ncmsc”
x-cantillationLevel=”1.0” ”strong=”2178|������ x-morph=”OSHM:ANcmpc”
”strong=”2170|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1”
”strong=”5308|������� x-morph=”OSHM:AVqi3ms” ”strong=”c/5457|���������/��
x-morph=”OSHM:AC/Vqi3ms” x-cantillationLevel=”0.0” ”strong=”l/6755|������/��
x-morph=”OSHM:AR/Ncmsc” ”strong=”1722|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0”� 11 ”strong=”c/4479|���/�� x-morph=”OSHM:AC/Pf3cs”�����|strong=”1768”
x-morph=”OSHM:APf3cs”�����|strong=”3809” x-morph=”OSHM:ATn” ”strong=”5308|�������
x-morph=”OSHM:AVqi3ms” x-cantillationLevel=”1.0” ”strong=”c/5457|���������/��
x-morph=”OSHM:AC/Vqi3ms” x-cantillationLevel=”1” ”strong=”7412|����������
x-morph=”OSHM:AVui3ms” x-cantillationLevel=”0.1” ”strong=”l/1459|�����/��
x-morph=”OSHM:AR/Ncmsc”���������|strong=”861” x-morph=”OSHM:ANcmsc”
”strong=”5135|�/������ x-morph=”OSHM:ANcbsd/Td” x-cantillationLevel=”0.0”
”strong=”3345|�/����������� x-morph=”OSHM:AVqrfsd/Td” x-cantillationLevel=”0”�
12 ”strong=”383|������� x-morph=”OSHM:ATa” x-cantillationLevel=”1.1.2.0”
”strong=”1400|���������� x-morph=”OSHM:ANcmpa” ”strong=”3062|������������
x-morph=”OSHM:ANgmpa” x-cantillationLevel=”1.1.2” ”strong=”1768|�����
x-morph=”OSHM:ATr”����������|strong=”4483” x-morph=”OSHM:AVpp2ms”
”strong=”3487|�����/���� x-morph=”OSHM:ATo/Sp3mp” x-cantillationLevel=”1.1.1”
”strong=”5922|��� x-morph=”OSHM:AR”����������|strong=”5673” x-
morph=”OSHM:ANcfsc” x-cantillationLevel=”1.1.0” ”strong=”4083|���������
x-morph=”OSHM:ANcfsc” ”strong=”895|������� x-morph=”OSHM:ANp”
x-cantillationLevel=”1.1” ”strong=”7715|���������� x-morph=”OSHM:ANp”
”strong=”4336|��������� x-morph=”OSHM:ANp” x-cantillationLevel=”1.0”
”+strong=”c/5665|������/�� x-morph=”OSHM:AC/Np” ”strong=”5665|������
x-morph=”OSHM:ANp” x-cantillationLevel=”1” ”strong=”1400|�/�����������
x-morph=”OSHM:ANcmpd/Td” ”strong=”479|�������� x-morph=”OSHM:APdxcp”
x-cantillationLevel=”0.2.1” ”strong=”3809|��� x-morph=”OSHM:ATn”���������|strong=”7761”
x-morph=”OSHM:AVqp3mp” ”strong=”5922|�/��� x-morph=”OSHM:AR/Sp2ms”
x-wType=”x-ketiv” 37 ”strong=”4430|��/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.2.0” ”strong=”2942|������ x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”0.2” ”strong=”l/426|�/����/� x-morph=”OSHM:AR/Ncmpc/Sp2ms”

35+ ”strong=”7030|�������������� x-morph=”OSHM:ANcmsa”
36+ ”strong=”c/5481|�������������/��������/� x-morph=”OSHM:AC/Ncfsa” x-
cantillationLevel=”1.1”
37+ ”strong=”5922|��/������/��� x-morph=”OSHM:AR/Sp2ms”
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x-wType=”x-ketiv” 38 ”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”6399|���������
x-morph=”OSHM:AVqrmpa” x-cantillationLevel=”0.1” ”strong=”c/l/6755|������/��/��
x-morph=”OSHM:AC/R/Ncmsc” ”strong=”1722|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.0.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”6966|�����������
x-morph=”OSHM:AVhp2ms” x-cantillationLevel=”0.0” ”strong=”3809|����
x-morph=”OSHM:ATn” ”strong=”5457|��������� x-morph=”OSHM:AVqrmpa”
x-cantillationLevel=”0”� � 13 ”strong=”b/116|�������/��� x-morph=”OSHM:AR/D”
”strong=”5020|���������������� x-morph=”OSHM:ANp” x-cantillationLevel=”1.2.0”
”strong=”b/7266|������/��� x-morph=”OSHM:AR/Ncmsa” ”strong=”c/2528|������/��
x-morph=”OSHM:AC/Ncfsa” x-cantillationLevel=”1.2” ”strong=”560|������
x-morph=”OSHM:AVqp3ms” x-cantillationLevel=”1.1.0” ”strong=”l/858|����������/��
x-morph=”OSHM:AR/Vhc” x-cantillationLevel=”1.1” ”strong=”l/7715|����������/��
x-morph=”OSHM:ATo/Np” ”strong=”4336|��������� x-morph=”OSHM:ANp”
x-cantillationLevel=”1.0” ”+strong=”c/5665|������/�� x-morph=”OSHM:AC/Np”
”strong=”5665|������ x-morph=”OSHM:ANp” x-cantillationLevel=”1” ”strong=”b/116|��������/���
x-morph=”OSHM:AR/D” x-cantillationLevel=”0.1.0” ”strong=”1400|�/�����������
x-morph=”OSHM:ANcmpd/Td” ”strong=”479|�������� x-morph=”OSHM:APdxcp”
x-cantillationLevel=”0.1” ”strong=”858|��������� x-morph=”OSHM:AVHp3mp”
x-cantillationLevel=”0.0” ”strong=”6925|������ x-morph=”OSHM:AR” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0”� 14 ”strong=”6032|������
x-morph=”OSHM:AVqrmsa” ”strong=”5020|���������������� x-morph=”OSHM:ANp”
x-cantillationLevel=”1.2.0” ”strong=”c/560|������/�� x-morph=”OSHM:AC/Vqrmsa”
”strong=”l|�����/�� x-morph=”OSHM:AR/Sp3mp” x-cantillationLevel=”1.2”
”strong=”d/6656|�������/�� x-morph=”OSHM:ATi/Ncmsa” x-cantillationLevel=”1.1”
”strong=”7715|���������� x-morph=”OSHM:ANp” ”strong=”4336|���������
x-morph=”OSHM:ANp” x-cantillationLevel=”1.0” ”+strong=”c/5665|������/��
x-morph=”OSHM:AC/Np” ”strong=”5665|������ x-morph=”OSHM:ANp”
x-cantillationLevel=”1” ”strong=”l/426|�/������/��� x-morph=”OSHM:AR/Ncmsc/Sp1cs”
x-cantillationLevel=”0.1.1” ”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”383|�����/�������
x-morph=”OSHM:ATa/Sp2mp” x-cantillationLevel=”0.1.0” ”strong=”6399|�����������
x-morph=”OSHM:AVqrmpa” x-cantillationLevel=”0.1” ”strong=”c/l/6755|������/��/��
x-morph=”OSHM:AC/R/Ncmsc” ”strong=”1722|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.0.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”6966|���������
x-morph=”OSHM:AVhp1cs” x-cantillationLevel=”0.0” ”strong=”3809|����
x-morph=”OSHM:ATn” ”strong=”5457|���������� x-morph=”OSHM:AVqrmpa”
x-cantillationLevel=”0”� 15 ”strong=”3705|������� x-morph=”OSHM:AD”
x-cantillationLevel=”1.3.2.0” strong=”2006|���� a” x-morph=”OSHM:AC”
”strong=”383|�����/������� x-morph=”OSHM:ATa/Sp2mp” ”strong=”6263|����������
x-morph=”OSHM:AAampa” x-cantillationLevel=”1.3.2” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”b/5732|�/��������/�� x-morph=”OSHM:AR/Ncmsd/Td”
x-cantillationLevel=”1.3.1.4” ”strong=”1768|����� x-morph=”OSHM:ATr”�������������|strong=”8086”
x-morph=”OSHM:AVqi2mp” x-cantillationLevel=”1.3.1.3” ”strong=”7032|����
x-morph=”OSHM:ANcmsc” ”strong=”7162|�/������� x-morph=”OSHM:ANcfsd/Td”

38+ ”strong=”l/426|���/�����/����/����/� x-morph=”OSHM:AR/Ncmsc/Sp2ms” x-
cantillationLevel=”0.1.0”
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”strong=”4953|�/�������������� x-morph=”OSHM:ANcfsd/Td” ”strong=”7030|�����
x-morph=”OSHM:ANcmsa” x-wType=”x-ketiv” 39 40 Yathir readings in L
which we have designated as Qeres when both Dothan and BHS list a Qere.
”strong=”5443|���������� x-morph=”OSHM:ANcfsa” x-cantillationLevel=”1.3.1.2”
”strong=”6460|��������������� x-morph=”OSHM:ANcmsa” ”strong=”c/5481|���������������/��
x-morph=”OSHM:AC/Ncfsa” x-cantillationLevel=”1.3.1.1” ”strong=”c/3606|����/��
x-morph=”OSHM:AC/Ncmsc” x-cantillationLevel=”1.3.1.0” � ”strong=”2178|������
x-morph=”OSHM:ANcmpc” ”strong=”2170|�/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.3.1” ”strong=”5308|����������� x-morph=”OSHM:AVqi2mp”
”strong=”c/5457|������������/�� x-morph=”OSHM:AC/Vqi2mp” x-cantillationLevel=”1.3.0”
”strong=”l/6755|�/�������/�� x-morph=”OSHM:AR/Ncmsd/Td” ”strong=”1768|����
x-morph=”OSHM:ATr”���������|strong=”5648” x-morph=”OSHM:AVqp1cs”
x-cantillationLevel=”1.3” strong=”c/2006|����/�� a” x-morph=”OSHM:AC/C”
x-cantillationLevel=”1.2.0” ”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”5457|������������
x-morph=”OSHM:AVqi2mp” x-cantillationLevel=”1.2” ”strong=”b|��/���
x-morph=”OSHM:AR/Sp3ms”�/���������|strong=”8160” x-morph=”OSHM:ANcfsd/Td”
”strong=”7412|����������� x-morph=”OSHM:AVui2mp” x-cantillationLevel=”1.1”
”strong=”l/1459|�����/�� x-morph=”OSHM:AR/Ncmsc”���������|strong=”861”
x-morph=”OSHM:ANcmsc” ”strong=”5135|�/������ x-morph=”OSHM:ANcbsd/Td”
x-cantillationLevel=”1.0” ”strong=”3345|�/����������� x-morph=”OSHM:AVqrfsd/Td”
x-cantillationLevel=”1” ”strong=”c/4479|���/�� x-morph=”OSHM:AC/Pi3cs”������|strong=”1932”
x-morph=”OSHM:ATa” ”strong=”426|������� x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”0.1” ”strong=”1768|����� x-morph=”OSHM:ATr” 41
”strong=”7804|�����/������������� x-morph=”OSHM:AVei3ms/Sp2mp”
x-cantillationLevel=”0.0” ”strong=”4481|��� x-morph=”OSHM:AR”�/������|strong=”3028”
x-morph=”OSHM:ANcfpc/Sp1cs” x-cantillationLevel=”0”� 16 ”strong=”6032|������
x-morph=”OSHM:AVqp3mp” x-cantillationLevel=”1.1.1” ”strong=”7715|����������
x-morph=”OSHM:ANp” ”strong=”4336|��������� x-morph=”OSHM:ANp”
x-cantillationLevel=”1.1.0” ”+strong=”c/5665|������/�� x-morph=”OSHM:AC/Np”
”strong=”5665|������ x-morph=”OSHM:ANp” x-cantillationLevel=”1.1”
”strong=”c/560|���������/�� x-morph=”OSHM:AC/Vqrmpa” x-cantillationLevel=”1.0”
”strong=”l/4430|�/��������/�� x-morph=”OSHM:AR/Ncmsd/Td” x-cantillationLevel=”1”
”strong=”5020|����������������� x-morph=”OSHM:ANp” x-cantillationLevel=”0.1”
”strong=”3809|���� x-morph=”OSHM:ATn”�����������|strong=”2818
a” x-morph=”OSHM:AVqrmpa” ”strong=”586|���������� x-morph=”OSHM:APp1cp”
”strong=”5922|��� x-morph=”OSHM:AR”��������|strong=”1836” x-morph=”OSHM:APdxms”
x-cantillationLevel=”0.0.0” ”strong=”6600|��������� x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”0.0” ”strong=”l/8421|��/����������/�� x-morph=”OSHM:AR/Vhc/Sp2ms”
x-cantillationLevel=”0”� 17 strong=”2006|���� a” x-morph=”OSHM:AC”
”strong=”383|������� x-morph=”OSHM:ATa” x-cantillationLevel=”1.1.1”
”strong=”426|����/������� x-morph=”OSHM:ANcmsc/Sp1cp” x-cantillationLevel=”1.1.0”
”strong=”1768|����� x-morph=”OSHM:ATr”�����������|strong=”586”
39+ ”strong=”7030|�������������� x-morph=”OSHM:ANcmsa”
40y
411 BHS has been faithful to the Leningrad Codex where there might be a question of the validity
of the form and we keep the same form as BHS.
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x-morph=”OSHM:APp1cp” ”strong=”6399|���������� x-morph=”OSHM:AVqrmpa”
x-cantillationLevel=”1.1” ”strong=”3202|������ x-morph=”OSHM:AVqi3ms”
x-cantillationLevel=”1.0” ”strong=”l/7804|���/������������/�� x-morph=”OSHM:AR/Vec/Sp1cp”
x-cantillationLevel=”1” ”strong=”4481|��� x-morph=”OSHM:AR”���������|strong=”861”
x-morph=”OSHM:ANcmsc” ”strong=”5135|�/������ x-morph=”OSHM:ANcbsd/Td”
”strong=”3345|�/����������� x-morph=”OSHM:AVqrfsd/Td” x-cantillationLevel=”0.0.0”
”strong=”c/4481|���/�� x-morph=”OSHM:AC/R”��/������|strong=”3028”
x-morph=”OSHM:ANcfpc/Sp2ms” ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.0” ”strong=”7804|���������� x-morph=”OSHM:AVei3ms”
x-cantillationLevel=”0”� 18 strong=”c/2006|����/�� a” x-morph=”OSHM:AC/C”
”strong=”3809|���� x-morph=”OSHM:ATn” x-cantillationLevel=”1.1” ”strong=”3046|��������
x-morph=”OSHM:AVqsmsa” ”strong=”1934|������� x-morph=”OSHM:AVqi3ms”��/����|strong=”l”
x-morph=”OSHM:AR/Sp2ms” x-cantillationLevel=”1.0” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”l/426|�/����/� x-morph=”OSHM:AR/Ncmpc/Sp2ms”
x-wType=”x-ketiv” 42 43 We have abandoned or added a ketib/qere relative
to BHS. In doing this we agree with L against BHS. ”strong=”3809|��� x-
morph=”OSHM:ATn”��/�����|strong=”383” x-morph=”OSHM:ATa/Sp1cp”
x-wType=”x-ketiv” 44 ”strong=”6399|���������� x-morph=”OSHM:AVqrmpa”
x-cantillationLevel=”0.1” ”strong=”c/l/6755|������/��/�� x-morph=”OSHM:AC/R/Ncmsc”
”strong=”1722|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.0.0”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”6966|�����������
x-morph=”OSHM:AVhp2ms” x-cantillationLevel=”0.0” ”strong=”3809|����
x-morph=”OSHM:ATn” ”strong=”5457|��������� x-morph=”OSHM:AVqi1cp”
x-cantillationLevel=”0”� � 19 ”strong=”b/116|�������/��� x-morph=”OSHM:AR/D”
”strong=”5020|���������������� x-morph=”OSHM:ANp” x-cantillationLevel=”1.1.1.0”
”strong=”4391|���������� x-morph=”OSHM:AVup3ms” ”strong=”2528|������
x-morph=”OSHM:ANcfsa” x-cantillationLevel=”1.1.1” ”strong=”c/6755|������/��
x-morph=”OSHM:AC/Ncmsc” ”strong=”600|����/��������� x-morph=”OSHM:ANcmdc/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”8133|����� x-morph=”OSHM:AVPp3ms”
x-wType=”x-ketiv” 45 ”strong=”5922|��� x-morph=”OSHM:AR”�����������|strong=”7715”
x-morph=”OSHM:ANp” ”strong=”4336|��������� x-morph=”OSHM:ANp”
x-cantillationLevel=”1.0” ”+strong=”c/5665|������/�� x-morph=”OSHM:AC/Np”
”strong=”5665|������ x-morph=”OSHM:ANp” x-cantillationLevel=”1” ”strong=”6032|������
x-morph=”OSHM:AVqrmsa” ”strong=”c/560|������/�� x-morph=”OSHM:AC/Vqrmsa”
x-cantillationLevel=”0.2.0” ”strong=”l/228|������/�� x-morph=”OSHM:AR/Vqc”
”strong=”l/861|�/���������/�� x-morph=”OSHM:ATo/Ncmsd/Td” x-cantillationLevel=”0.2”
”strong=”2298|���� x-morph=”OSHM:AAcmsa”����������|strong=”7655”
x-morph=”OSHM:AAcmsa” x-cantillationLevel=”0.1” ”strong=”5922|����
x-morph=”OSHM:AR” x-cantillationLevel=”0.0.0” ”strong=”1768|����� x-
42+ ”strong=”l/426|���/�����/����/����/� x-morph=”OSHM:AR/Ncmsc/Sp2ms” x-
cantillationLevel=”0.1.0”
43q
44+ ”strong=”383|���/��������/���� x-morph=”OSHM:ATa/Sp1cp”
45+ ”strong=”8133|������������������ x-morph=”OSHM:AVPp3ms” x-
cantillationLevel=”1.1”
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morph=”OSHM:ATr” ”strong=”2370|������ x-morph=”OSHM:AVqsmsa”
x-cantillationLevel=”0.0” ”strong=”l/228|��/�������/�� x-morph=”OSHM:AR/Vqc/Sp3ms”
x-cantillationLevel=”0”� 20 ”strong=”c/l/1400|���������/��/�� x-morph=”OSHM:AC/R/Ncmpa”
”strong=”1401|���������� x-morph=”OSHM:ANcmpc”��������|strong=”2429”
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.2.0” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”b/2429|��/�������/�� x-morph=”OSHM:AR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.2” ”strong=”560|������ x-morph=”OSHM:AVqp3ms”
x-cantillationLevel=”1.1.0” ”strong=”l/3729|���������/�� x-morph=”OSHM:AR/Vpc”
x-cantillationLevel=”1.1” ”strong=”l/7715|����������/�� x-morph=”OSHM:ATo/Np”
”strong=”4336|��������� x-morph=”OSHM:ANp” x-cantillationLevel=”1.0”
”+strong=”c/5665|������/�� x-morph=”OSHM:AC/Np” ”strong=”5665|������
x-morph=”OSHM:ANp” x-cantillationLevel=”1” ”strong=”l/7412|��������/��
x-morph=”OSHM:AR/Vqc” x-cantillationLevel=”0.1” ”strong=”l/861|��������/��
x-morph=”OSHM:AR/Ncmsc” ”strong=”5135|�/������ x-morph=”OSHM:ANcbsd/Td”
x-cantillationLevel=”0.0” ”strong=”3345|�/����������� x-morph=”OSHM:AVqrfsd/Td”
x-cantillationLevel=”0”� 21 ”strong=”b/116|�������/��� x-morph=”OSHM:AR/D”
x-cantillationLevel=”1.1.2.0” ”strong=”1400|�/����������� x-morph=”OSHM:ANcmpd/Td”
”strong=”479|�������� x-morph=”OSHM:APdxcp” x-cantillationLevel=”1.1.2”
”strong=”3729|���������� x-morph=”OSHM:AVQp3mp” x-cantillationLevel=”1.1.1”
”strong=”b/5622|�����/����������/��� x-morph=”OSHM:AR/Ncmpc/Sp3mp”
x-cantillationLevel=”1.1.0” ”strong=”6361|���/����� x-morph=”OSHM:ANcmpc/Sp3mp”
x-wType=”x-ketiv” 46 47 Yathir readings in L which we have designated as
Qeres when both Dothan and BHS list a Qere. ”strong=”c/3737|�����/�����������/��
x-morph=”OSHM:AC/Ncfpc/Sp3mp” x-cantillationLevel=”1.0” ”strong=”c/3831|�����/��������/��
x-morph=”OSHM:AC/Ncmpc/Sp3mp” x-cantillationLevel=”1” ”strong=”c/7412|�������/��
x-morph=”OSHM:AC/VQp3mp” x-cantillationLevel=”0.1” ”strong=”l/1459|�����/��
x-morph=”OSHM:AR/Ncmsc”���������|strong=”861” x-morph=”OSHM:ANcmsc”
”strong=”5135|�/������ x-morph=”OSHM:ANcbsd/Td” x-cantillationLevel=”0.0”
”strong=”3345|�/����������� x-morph=”OSHM:AVqrfsd/Td” x-cantillationLevel=”0”�
22 ”strong=”k/3606|�/��� x-morph=”OSHM:AC/C”�������|strong=”6903”
x-morph=”OSHM:AC” ”strong=”1836|������� x-morph=”OSHM:AC” x-
cantillationLevel=”1.1.1” ”strong=”4481|��� x-morph=”OSHM:AC”������|strong=”1768”
x-morph=”OSHM:AC” x-cantillationLevel=”1.1.0.0” ”strong=”4406|�������
x-morph=”OSHM:ANcfsc” ”strong=”4430|��/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.1.0” ”strong=”2685|���������� x-morph=”OSHM:AVarfsa”
x-cantillationLevel=”1.1” ”strong=”c/861|�/���������/�� x-morph=”OSHM:AC/Ncmsd/Td”
x-cantillationLevel=”1.0” ”strong=”228|������ x-morph=”OSHM:AVqsmsa”
”strong=”3493|���������� x-morph=”OSHM:AAafsa” x-cantillationLevel=”1”
”strong=”1400|�/����������� x-morph=”OSHM:ANcmpd/Td” ”strong=”479|��������
x-morph=”OSHM:APdxcp” x-cantillationLevel=”0.2.2” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”5267|���������� x-morph=”OSHM:AVhp3mp”
x-cantillationLevel=”0.2.1” ”strong=”l/7715|����������/�� x-morph=”OSHM:ATo/Np”

46+”strong=”6361|�����/�������������/����� x-morph=”OSHM:ANcmpc/Sp3mp”
x-cantillationLevel=”1.1”
47y



34 CONTENTS

”strong=”4336|��������� x-morph=”OSHM:ANp” x-cantillationLevel=”0.2.0”
”+strong=”c/5665|������/�� x-morph=”OSHM:AC/Np” ”strong=”5665|������
x-morph=”OSHM:ANp” x-cantillationLevel=”0.2” ”strong=”6992|�������
x-morph=”OSHM:AVpp3ms” ”strong=”1994|�������� x-morph=”OSHM:APp3mp”
x-cantillationLevel=”0.1” ”strong=”7631|�/��������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”5135|�/������
x-morph=”OSHM:ANcbsd/Td” x-cantillationLevel=”0”� 23 ”strong=”c/1400|�/����������/��
x-morph=”OSHM:AC/Ncmpd/Td” ”strong=”479|�������� x-morph=”OSHM:APdxcp”
x-cantillationLevel=”1.1.0” ”strong=”8532|�����/��������� x-morph=”OSHM:AAcmsc/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”7715|���������� x-morph=”OSHM:ANp”
”strong=”4336|��������� x-morph=”OSHM:ANp” x-cantillationLevel=”1.0”
”+strong=”c/5665|������/�� x-morph=”OSHM:AC/Np” ”strong=”5665|������
x-morph=”OSHM:ANp” x-cantillationLevel=”1” ”strong=”5308|��������
x-morph=”OSHM:AVqp3mp” x-cantillationLevel=”0.0.0” ”strong=”l/1459|�����/��
x-morph=”OSHM:AR/Ncmsc”��������|strong=”861” x-morph=”OSHM:ANcmsc”�/�������|strong=”5135”
x-morph=”OSHM:ANcbsd/Td” ”strong=”3345|�/����������� x-morph=”OSHM:AVqrfsd/Td”
x-cantillationLevel=”0.0” ”strong=”3729|������������ x-morph=”OSHM:AVpsmpa”
x-cantillationLevel=”0”� � 24 ”strong=”116|��������� x-morph=”OSHM:AD”
x-cantillationLevel=”1.1.0” ”strong=”5020|���������������� x-morph=”OSHM:ANp”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1”
”strong=”8429|�������� x-morph=”OSHM:AVqp3ms” x-cantillationLevel=”1.0”
”strong=”c/6966|����/�� x-morph=”OSHM:AC/Vqp3ms” ”strong=”b/927|�������������/���
x-morph=”OSHM:AR/Vuc” x-cantillationLevel=”1” ”strong=”6032|������
x-morph=”OSHM:AVqrmsa” ”strong=”c/560|������/�� x-morph=”OSHM:AC/Vqrmsa”
x-cantillationLevel=”0.2.1.0” ”strong=”l/1907|���/������������/�� x-
morph=”OSHM:AR/Ncmpc/Sp3ms” x-cantillationLevel=”0.2.1” ”strong=”i/3809|����/��
x-morph=”OSHM:ATi/Tn” ”strong=”1400|��������� x-morph=”OSHM:ANcmpa”
”strong=”8532|��������� x-morph=”OSHM:AAcmsa” x-cantillationLevel=”0.2.0.0”
”strong=”7412|��������� x-morph=”OSHM:AVqp1cp” ”strong=”l/1459|����/��
x-morph=”OSHM:AR/Ncmsc”��/������|strong=”5135” x-morph=”OSHM:ANcbsd/Td”
x-cantillationLevel=”0.2.0” ”strong=”3729|������������ x-morph=”OSHM:AVprmpa”
x-cantillationLevel=”0.2” ”strong=”6032|�������� x-morph=”OSHM:AVqrmpa”
”strong=”c/560|���������/�� x-morph=”OSHM:AC/Vqrmpa” x-cantillationLevel=”0.1.0”
”strong=”l/4430|�/��������/�� x-morph=”OSHM:AR/Ncmsd/Td” x-cantillationLevel=”0.1”
”strong=”3330|���������� x-morph=”OSHM:AAafsa” x-cantillationLevel=”0.0”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0”�
25 ”strong=”6032|������ x-morph=”OSHM:AVqrmsa” ”strong=”c/560|������/��
x-morph=”OSHM:AC/Vqrmsa” x-cantillationLevel=”1.1.2” strong=”1888|����
a” x-morph=”OSHM:ATm”�������|strong=”576 b” x-morph=”OSHM:APp1cs”
”strong=”2370|������ x-morph=”OSHM:AVqrmsa” x-cantillationLevel=”1.1.1.0”
”strong=”1400|���������� x-morph=”OSHM:ANcmpa” ”strong=”703|�����������
x-morph=”OSHM:AAcbsa” x-cantillationLevel=”1.1.1” ”strong=”8271|����������
x-morph=”OSHM:AVQsmpa” x-cantillationLevel=”1.1.0” ”strong=”1981|�����������
x-morph=”OSHM:AVarmpa” ”strong=”b/1459|�����/��� x-morph=”OSHM:AR/Ncmsc”�/�������|strong=”5135”
x-morph=”OSHM:ANcbsd/Td” x-cantillationLevel=”1.1” ”strong=”c/2257|������/��
x-morph=”OSHM:AC/Ncmsa” x-cantillationLevel=”1.0” ”strong=”3809|���
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x-morph=”OSHM:ATn”��������|strong=”383” x-morph=”OSHM:ATa” ”strong=”b|�����/���
x-morph=”OSHM:AR/Sp3mp” x-cantillationLevel=”1” ”strong=”c/7299|���/����/��
x-morph=”OSHM:AC/Ncmsc/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”7244|�/����� x-morph=”OSHM:AAomsd/Td”
x-wType=”x-ketiv” 48 ”strong=”1821|������� x-morph=”OSHM:AVqrmsa”
x-cantillationLevel=”0.0” ”strong=”l/1247|���/�� x-morph=”OSHM:AR/Ncmsc”����������|strong=”426”
x-morph=”OSHM:ANcmpa” x-cantillationLevel=”0”� � 26 ”strong=”b/116|�������/���
x-morph=”OSHM:AR/D” x-cantillationLevel=”1.1.1.0” ”strong=”7127|������
x-morph=”OSHM:AVqp3ms” ”strong=”5020|���������������� x-morph=”OSHM:ANp”
x-cantillationLevel=”1.1.1” ”strong=”l/8651|������/�� x-morph=”OSHM:AR/Ncmsc”
x-cantillationLevel=”1.1.0” ”strong=”861|�������� x-morph=”OSHM:ANcmsc”
”strong=”5135|�/������ x-morph=”OSHM:ANcbsd/Td” ”strong=”3345|��/����������
x-morph=”OSHM:AVqrfsd/Td” x-cantillationLevel=”1.1” ”strong=”6032|������
x-morph=”OSHM:AVqrmsa” ”strong=”c/560|������/�� x-morph=”OSHM:AC/Vqrmsa”
x-cantillationLevel=”1.0.2” ”strong=”7715|���������� x-morph=”OSHM:ANp”
”strong=”4336|��������� x-morph=”OSHM:ANp” ”+strong=”c/5665|�����/��
x-morph=”OSHM:AC/Np”�������|strong=”5665” x-morph=”OSHM:ANp”
x-cantillationLevel=”1.0.1” ”strong=”5649|���/�������� x-morph=”OSHM:ANcmpc/Sp3ms”
x-cantillationLevel=”1.0.0” ”strong=”1768|����� x-morph=”OSHM:ATr”�/��������|strong=”426”
x-morph=”OSHM:ANcmsd/Td” ”strong=”5943|�/��� x-morph=”OSHM:AAamsd/Td”
x-wType=”x-ketiv” 49 ”strong=”5312|������� x-morph=”OSHM:AVqv2mp”
”strong=”c/858|������/�� x-morph=”OSHM:AC/Vqv2mp” x-cantillationLevel=”1”
”strong=”b/116|�������/��� x-morph=”OSHM:AR/D” ”strong=”5312|����������
x-morph=”OSHM:AVqrmpa” x-cantillationLevel=”0.0.1” ”strong=”7715|����������
x-morph=”OSHM:ANp” ”strong=”4336|��������� x-morph=”OSHM:ANp”
x-cantillationLevel=”0.0.0” ”+strong=”c/5665|������/�� x-morph=”OSHM:AC/Np”
”strong=”5665|������ x-morph=”OSHM:ANp” x-cantillationLevel=”0.0”
”strong=”4481|��� x-morph=”OSHM:AR”�������|strong=”1459” x-morph=”OSHM:ANcmsc”
”strong=”5135|�/������ x-morph=”OSHM:ANcbsd/Td” x-cantillationLevel=”0”�
27 ”strong=”c/3673|����������������/��� x-morph=”OSHM:AC/VMrmpa”
x-cantillationLevel=”1.2.0.1” ”strong=”324|�/���������������������
x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.2.0.0” ”strong=”5460|�/����������
x-morph=”OSHM:ANcmpd/Td” ”strong=”c/6347|��/��������/�� x-morph=”OSHM:AC/Ncmpd/Td”
x-cantillationLevel=”1.2.0” ”strong=”c/1907|�����������/�� x-morph=”OSHM:AC/Ncmpc”
”strong=”4430|��/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.2”
”strong=”2370|�������� x-morph=”OSHM:AVqrmpa” ”strong=”l/1400|�/����������/��
x-morph=”OSHM:ATo/Ncmpd/Td” ”strong=”479|�������� x-morph=”OSHM:APdxcp”
x-cantillationLevel=”1.1.1.1” ”strong=”1768|����� x-morph=”OSHM:ATr”
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x-cantillationLevel=”1.1.0” ”strong=”2939|��/�������������� x-morph=”OSHM:AVpi3mp/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/m/2920|�����/��/�� x-morph=”OSHM:AC/R/Ncmsc”
”strong=”8065|�/��������� x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.0”
”strong=”1655|��/��������� x-morph=”OSHM:ANcmsc/Sp3ms” ”strong=”6647|�����������
x-morph=”OSHM:AVMi3ms” x-cantillationLevel=”1” ”strong=”5705|����
x-morph=”OSHM:AR” ”strong=”1768|����� x-morph=”OSHM:ATr”�������|strong=”3046”
x-morph=”OSHM:AVqp3ms” x-cantillationLevel=”0.1.1” ”strong=”1768|�����
x-morph=”OSHM:ATr”����������|strong=”7990” x-morph=”OSHM:AAamsa”
x-cantillationLevel=”0.1.0.0” ”strong=”426|�/������� x-morph=”OSHM:ANcmsd/Td”
”strong=”5943|�/��� x-morph=”OSHM:AAamsd/Td” x-wType=”x-ketiv” 141
”strong=”b/4437|���������/��� x-morph=”OSHM:AR/Ncfsc” ”strong=”606|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1” ”strong=”c/l/4479|���/��/��
x-morph=”OSHM:AC/R/Pf3cs”������|strong=”1768” x-morph=”OSHM:APf3cs”
”strong=”6634|��������� x-morph=”OSHM:AVqi3ms” x-cantillationLevel=”0.0”
”strong=”6966|��������� x-morph=”OSHM:AVhi3ms” ”strong=”5922|�/���
x-morph=”OSHM:AR/Sp3cs” x-wType=”x-ketiv” 142 � 22 ”strong=”c/607|����/�
x-morph=”OSHM:AC/Pp2ms” x-wType=”x-ketiv” 143 ”strong=”1247|���/�����
x-morph=”OSHM:ANcmsc/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”1113|��������������
x-morph=”OSHM:ANp” x-cantillationLevel=”1.1” ”strong=”3809|���� x-
morph=”OSHM:ATn” ”strong=”8214|�������������� x-morph=”OSHM:AVhp2ms”
x-cantillationLevel=”1.0” ”strong=”3825|��/������� x-morph=”OSHM:ANcmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”k/3606|�/��� x-morph=”OSHM:AC/C”�������|strong=”6903”
x-morph=”OSHM:AC” x-cantillationLevel=”0.1” ”strong=”1768|����� x-

139+ strong=”7739|������������� a” x-morph=”OSHM:AVQp3mp” x-
cantillationLevel=”1.2.1”
1401
141+ ”strong=”5943|��/��������/��� x-morph=”OSHM:AAamsd/Td” x-
cantillationLevel=”0.1.0”
142+ ”strong=”5922|��/������/��� x-morph=”OSHM:AR/Sp3cs” x-cantillationLevel=”0”
143+ ”strong=”c/607|��������/������/� x-morph=”OSHM:AC/Pp2ms”
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morph=”OSHM:AC” ”strong=”3606|��� x-morph=”OSHM:ANcmsc”��������|strong=”1836”
x-morph=”OSHM:APdxms” x-cantillationLevel=”0.0” ”strong=”3046|����������
x-morph=”OSHM:AVqp2ms” x-cantillationLevel=”0”� 23 ”strong=”c/5922|����/��
x-morph=”OSHM:AC/R” ”strong=”4756|������ x-morph=”OSHM:ANcmsc”�/����������|strong=”8065”
x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.1.2.2” � ”strong=”7313|���������������
x-morph=”OSHM:AVrp2ms” x-cantillationLevel=”1.1.2.1” ”strong=”c/l/3984|�/����������/��/��
x-morph=”OSHM:AC/To/Ncmpd/Td” ”strong=”1768|���� x-morph=”OSHM:ATr”��/��������|strong=”1005”
x-morph=”OSHM:ANcmsc/Sp3ms” x-cantillationLevel=”1.1.2.0” ”strong=”858|���������
x-morph=”OSHM:AVhp3mp” ”strong=”6925|�/���� x-morph=”OSHM:AR/Sp2ms”
x-wType=”x-ketiv” 144 ”strong=”c/607|����/� x-morph=”OSHM:AC/Pp2ms”
x-wType=”x-ketiv” 145 ”strong=”c/7261|�/������/� x-morph=”OSHM:AC/Ncmpc/Sp2ms”
x-wType=”x-ketiv” 146 147 Yathir readings in L which we have designated as
Qeres when both Dothan and BHS list a Qere. ”strong=”7695|��/�����������
x-morph=”OSHM:ANcfpc/Sp2ms” ”strong=”c/3904|���/��������/�� x-
morph=”OSHM:AC/Ncfpc/Sp2ms” x-cantillationLevel=”1.1.1” ”strong=”2562|��/������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1.0” ”strong=”8355|���������
x-morph=”OSHM:AVqrmpa” ”strong=”b|�����/��� x-morph=”OSHM:AR/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”c/l/426|�������/���/�� x-morph=”OSHM:AC/R/Ncmpc”
”strong=”3702|�/�������� x-morph=”OSHM:ANcmsd/Td”�/������/����|strong=”c/1722”
x-morph=”OSHM:AC/Ncmsd/Td” x-cantillationLevel=”1.0.1.1” ”strong=”5174|�/��������
x-morph=”OSHM:ANcmsd/Td” ”strong=”6523|�/��������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.0.1.0” ”strong=”636|�/����� x-morph=”OSHM:ANcmsd/Td”
”strong=”c/69|�/�������/�� x-morph=”OSHM:AC/Ncfsd/Td” x-cantillationLevel=”1.0.1”
”strong=”1768|����� x-morph=”OSHM:ATr” x-cantillationLevel=”1.0.0.0”
”strong=”3809|���� x-morph=”OSHM:ATn”���������|strong=”2370”
x-morph=”OSHM:AVqrmpa” ”strong=”c/3809|���/�� x-morph=”OSHM:AC/Tn”�����������|strong=”8086”
x-morph=”OSHM:AVqrmpa” x-cantillationLevel=”1.0.0” ”strong=”c/3809|����/��
x-morph=”OSHM:AC/Tn” ”strong=”3046|��������� x-morph=”OSHM:AVqrmpa”
x-cantillationLevel=”1.0” ”strong=”7624|������������ x-morph=”OSHM:AVpp2ms”
x-cantillationLevel=”1” ”strong=”c/l/426|�/������/���/�� x-morph=”OSHM:AC/R/Ncmsd/Td”
x-cantillationLevel=”0.0.0.0” ”strong=”1768|����� x-morph=”OSHM:ATr”��/�����������|strong=”5396”
x-morph=”OSHM:ANcfsc/Sp2ms” ”strong=”b/3028|��/����/��� x-morph=”OSHM:AR/Ncfsc/Sp3ms”
x-cantillationLevel=”0.0.0” ”strong=”c/3606|���/�� x-morph=”OSHM:AC/Ncmsc”��/����������|strong=”735”
x-morph=”OSHM:ANcfpc/Sp2ms” ”strong=”l|��/��� x-morph=”OSHM:AR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”1922|�����������
x-morph=”OSHM:AVpp2ms” x-cantillationLevel=”0”� 24 ”strong=”b/116|��������/���
x-morph=”OSHM:AR/D” x-cantillationLevel=”1.1.0” ”strong=”4481|��� x-
morph=”OSHM:AR”���/���������|strong=”6925” x-morph=”OSHM:AR/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”7972|���������� x-morph=”OSHM:AVQp3ms”

144+ ”strong=”6925|��/���������/���� x-morph=”OSHM:AR/Sp2ms” x-
cantillationLevel=”1.1.2”
145+ ”strong=”c/607|��������/������/� x-morph=”OSHM:AC/Pp2ms”
146+ ”strong=”c/7261|��/�����������/���/������/� x-
morph=”OSHM:AC/Ncmsc/Sp2ms” x-cantillationLevel=”1.1.1.0”
147y
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x-cantillationLevel=”1.0” 148 BHS has been faithful to the Leningrad Codex
where there might be a question of the validity of the form and we keep the
same form as BHS. ”strong=”6447|�/������� x-morph=”OSHM:ANcmsd/Td”
”strong=”1768|���� x-morph=”OSHM:ATr”�/������|strong=”3028” x-
morph=”OSHM:ANcfsd/Td” x-cantillationLevel=”1” ”strong=”c/3792|�/�������/��
x-morph=”OSHM:AC/Ncmsd/Td” ”strong=”1836|������ x-morph=”OSHM:APdxms”
x-cantillationLevel=”0.0” ”strong=”7560|�������� x-morph=”OSHM:AVQp3ms”
x-cantillationLevel=”0”� 25 ”strong=”c/1836|������/�� x-morph=”OSHM:AC/Pdxms”
”strong=”3792|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.0”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”7560|��������
x-morph=”OSHM:AVQp3ms” x-cantillationLevel=”1” ”strong=”4484|������
x-morph=”OSHM:ANxxxa” ”strong=”4484|������ x-morph=”OSHM:ANxxxa”
x-cantillationLevel=”0.0” strong=”8625|������� b” x-morph=”OSHM:ANxxxa”
strong=”c/6537|���������/�� b” x-morph=”OSHM:AC/Nxxxa” x-cantillationLevel=”0”�
26 ”strong=”1836|������� x-morph=”OSHM:APdxms” x-cantillationLevel=”1.0”
”strong=”6591|�������� x-morph=”OSHM:ANcmsc”�/���������|strong=”4406”
x-morph=”OSHM:ANcfsd/Td” x-cantillationLevel=”1” ”strong=”4484|������
x-morph=”OSHM:ANxxxa” x-cantillationLevel=”0.1” ”strong=”4483|������
x-morph=”OSHM:AVqp3ms”�/��������|strong=”426” x-morph=”OSHM:ANcmsd/Td”
”strong=”4437|��/���������� x-morph=”OSHM:ANcfsc/Sp2ms” x-cantillationLevel=”0.0”
”strong=”c/8000|��/����������/�� x-morph=”OSHM:AC/Vhp3ms/Sp3fs”
x-cantillationLevel=”0”� 27 strong=”8625|������� b” x-morph=”OSHM:ANxxxa”
x-cantillationLevel=”1” strong=”8625|������������� a” x-morph=”OSHM:AVQi2ms”
”strong=”b/3977|�/�����������/�� x-morph=”OSHM:AR/Ncmpd/Td”
x-cantillationLevel=”0.0” ”strong=”c/7912|����������������/�� x-morph=”OSHM:AC/Vup2ms”
”strong=”2627|�������� x-morph=”OSHM:AAamsa” x-cantillationLevel=”0”�
28 strong=”6537|������� b” x-morph=”OSHM:ANxxxa” x-cantillationLevel=”1”
strong=”6537|���������� a” x-morph=”OSHM:AVQp3fs” x-cantillationLevel=”0.1.0”
”strong=”4437|��/���������� x-morph=”OSHM:ANcfsc/Sp2ms” x-cantillationLevel=”0.1”
”strong=”c/3052|��������/�� x-morph=”OSHM:AC/VQp3fs” x-cantillationLevel=”0.0”
”strong=”l/4076|������/�� x-morph=”OSHM:AR/Ngmsd” ”strong=”c/6540|������/��
x-morph=”OSHM:AC/Ngmsd” x-cantillationLevel=”0”� 29 ”strong=”b/116|�������/���
x-morph=”OSHM:AR/D” x-cantillationLevel=”1.1.1.0” � ”strong=”560|������
x-morph=”OSHM:AVqp3ms” ”strong=”1113|�������������� x-morph=”OSHM:ANp”
x-cantillationLevel=”1.1.1” ”strong=”c/3848|�������������/�� x-morph=”OSHM:AC/Vhp3mp”
”strong=”l/1841|�����������/�� x-morph=”OSHM:ATo/Np” x-cantillationLevel=”1.1.0”
”strong=”711|�/������������ x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1”
”strong=”c/2002|�/�����/� x-morph=”OSHM:AC/Ncmsd/Td” x-wType=”x-
ketiv” 149 ”strong=”1768|���� x-morph=”OSHM:ATr”�/��������|strong=”1722”
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.0” ”strong=”5922|����
x-morph=”OSHM:AR”��/����������|strong=”6676” x-morph=”OSHM:ANcmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/3745|�����������/�� x-morph=”OSHM:AC/Vhp3mp”
”strong=”5922|���/������ x-morph=”OSHM:AR/Sp3ms” x-cantillationLevel=”0.1”

1481
149+ ”strong=”c/2002|�/�����������/���/�����/� x-morph=”OSHM:AC/Ncmsd/Td”
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”strong=”1768|����� x-morph=”OSHM:AC”���������|strong=”1934”
x-morph=”OSHM:AVqi3ms” ”strong=”7990|��������� x-morph=”OSHM:AAamsa”
x-cantillationLevel=”0.0.0” ”strong=”8531|���������� x-morph=”OSHM:AAobsa”
x-cantillationLevel=”0.0” ”strong=”b/4437|�/����������/��� x-morph=”OSHM:AR/Ncfsd/Td”
x-cantillationLevel=”0”� 30 ”strong=”b|��/���� x-morph=”OSHM:AR/Sp3ms”
x-cantillationLevel=”0.2.0” ”strong=”b/3916|�/���������/��� x-morph=”OSHM:AR/Ncmsd/Td”
x-cantillationLevel=”0.2” ”strong=”6992|������� x-morph=”OSHM:AVQp3ms”
x-cantillationLevel=”0.1” ”strong=”1113|�������������� x-morph=”OSHM:ANp”
x-cantillationLevel=”0.0” ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
”strong=”3779|�/���� x-morph=”OSHM:ANgmpd/Td” x-wType=”x-ketiv”
150 � �6 151 KJV:Dan.5.31 ”strong=”c/1868|������������/�� x-morph=”OSHM:AC/Np”

x-cantillationLevel=”1.1.0” ”strong=”4077|�/�������� x-morph=”OSHM:ANgmsd/Td”
x-cantillationLevel=”1.1” 152 153 ”strong=”6902|������� x-morph=”OSHM:AVpp3ms”

x-cantillationLevel=”1.0” ”strong=”4437|�/���������� x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”1” ”strong=”k/1247|����/��� x-morph=”OSHM:AR/Ncmsc”
”strong=”8140|�������� x-morph=”OSHM:ANcfpa” x-cantillationLevel=”0.0”
”strong=”8361|��������� x-morph=”OSHM:AAcbpa” ”strong=”c/8648|����������/��
x-morph=”OSHM:AC/Acbpa” x-cantillationLevel=”0”� 2 154 KJV:Dan.6.1
”strong=”8232|������� x-morph=”OSHM:AVqp3ms” x-cantillationLevel=”1.2.0”
”strong=”6925|������ x-morph=”OSHM:AR” ”strong=”1868|������������
x-morph=”OSHM:ANp” x-cantillationLevel=”1.2” ”strong=”c/6966|�������/��
x-morph=”OSHM:AC/Vhp3ms” x-cantillationLevel=”1.1.0” ”strong=”5922|���
x-morph=”OSHM:AR”�/�����������|strong=”4437” x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”1.1” ”strong=”l/324|�/���������������������/��
x-morph=”OSHM:ATo/Ncmpd/Td” x-cantillationLevel=”1.0” ”strong=”3969|������
x-morph=”OSHM:AAcbsa” ”strong=”c/6243|����������/�� x-morph=”OSHM:AC/Acbpa”
x-cantillationLevel=”1” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”1934|��������
x-morph=”OSHM:AVqi3mp” x-cantillationLevel=”0.0” ”strong=”b/3606|���/���
x-morph=”OSHM:AR/Ncmsc”�/�����������|strong=”4437” x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”0”� 3 155 KJV:Dan.6.2 ”strong=”c/5924|�������/��
x-morph=”OSHM:AC/D” ”strong=”4481|�����/����� x-morph=”OSHM:AR/Sp3mp”
x-cantillationLevel=”1.1.0” ”strong=”5632|��������� x-morph=”OSHM:ANcmpa”
”strong=”8532|��������� x-morph=”OSHM:AAcmsa” x-cantillationLevel=”1.1”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”1841|����������
x-morph=”OSHM:ANp” x-cantillationLevel=”1.0” ”strong=”2298|���� x-
morph=”OSHM:AAcmsa”�����/������|strong=”4481” x-morph=”OSHM:AR/Sp3mp”
x-cantillationLevel=”1” ”strong=”1768|����� x-morph=”OSHM:ATr”���������|strong=”1934”

150+ ”strong=”3779|�/������������/���� x-morph=”OSHM:ANgmsd/Td” x-
cantillationLevel=”0”
151+
152n Marks an anomalous form.
153q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
154+
155+
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x-morph=”OSHM:AVqi3mp” x-cantillationLevel=”0.1.1.0” ”strong=”324|�/���������������������
x-morph=”OSHM:ANcmpd/Td” ”strong=”459|�������� x-morph=”OSHM:APdxmp”
x-cantillationLevel=”0.1.1” ”strong=”3052|��������� x-morph=”OSHM:AVqrmpa”
”strong=”l|�����/�� x-morph=”OSHM:AR/Sp3mp” x-cantillationLevel=”0.1.0”
”strong=”2941|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1”
”strong=”c/4430|�/��������/�� x-morph=”OSHM:AC/Ncmsd/Td” x-cantillationLevel=”0.0”
”strong=”3809|���� x-morph=”OSHM:ATn”���������|strong=”1934”
x-morph=”OSHM:AVqi3ms” ”strong=”5142|������ x-morph=”OSHM:AVqrmsa”
x-cantillationLevel=”0”� 4 156 KJV:Dan.6.3 ”strong=”116|��������� x-
morph=”OSHM:AD” x-cantillationLevel=”1.2.0” ”strong=”1841|�����������
x-morph=”OSHM:ANp” ”strong=”1836|������� x-morph=”OSHM:APdxms”
x-cantillationLevel=”1.2” ”strong=”1934|������ x-morph=”OSHM:AVqp3ms”
”strong=”5330|����������� x-morph=”OSHM:AVMrmsa” x-cantillationLevel=”1.1”
”strong=”5922|��� x-morph=”OSHM:AR”�/�����������|strong=”5632”
x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.0” ”strong=”c/324|�/���������������������/��
x-morph=”OSHM:AC/Ncmsd/Td” x-cantillationLevel=”1” ”strong=”k/3606|�/���
x-morph=”OSHM:AC/C”�������|strong=”6903” x-morph=”OSHM:AC” x-
cantillationLevel=”0.2.1” ”strong=”1768|����� x-morph=”OSHM:AC” ”strong=”7308|������
x-morph=”OSHM:ANcfsa” ”strong=”3493|���������� x-morph=”OSHM:AAafsa”
x-cantillationLevel=”0.2.0” ”strong=”b|��/���� x-morph=”OSHM:AR/Sp3ms”
x-cantillationLevel=”0.2” ”strong=”c/4430|�/��������/�� x-morph=”OSHM:AC/Ncmsd/Td”
”strong=”6246|�������� x-morph=”OSHM:AVQsmsa” x-cantillationLevel=”0.1”
”strong=”l/6966|��/����������/�� x-morph=”OSHM:AR/Vhc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”5922|��� x-morph=”OSHM:AR”�����|strong=”3606”
x-morph=”OSHM:ANcmsc”�/�����������|strong=”4437” x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”0”� 5 157 KJV:Dan.6.4 ”strong=”116|�������� x-
morph=”OSHM:AD” ”strong=”5632|�/����������� x-morph=”OSHM:ANcmpd/Td”
x-cantillationLevel=”1.0.1.0” ”strong=”c/324|�/���������������������/��
x-morph=”OSHM:AC/Ncmpd/Td” x-cantillationLevel=”1.0.1” ”strong=”1934|������
x-morph=”OSHM:AVqp3mp” ”strong=”1156|�������� x-morph=”OSHM:AVqrmpa”
”strong=”5931|������� x-morph=”OSHM:ANcfsa” x-cantillationLevel=”1.0.0”
”strong=”l/7912|������������/�� x-morph=”OSHM:AR/Vhc” ”strong=”l/1841|����������/��
x-morph=”OSHM:AR/Np” x-cantillationLevel=”1.0” ”strong=”m/6655|�����/��
x-morph=”OSHM:AR/Ncmsc” ”strong=”4437|�/���������� x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”1” ”strong=”c/3606|���/�� x-morph=”OSHM:AC/Ncmsc”��������|strong=”5931”
x-morph=”OSHM:ANcfsa” ”strong=”c/7844|����������/�� x-morph=”OSHM:AC/VQsfsa”
x-cantillationLevel=”0.2.1.0” ”strong=”3809|��� x-morph=”OSHM:ATn”����������|strong=”3202”
x-morph=”OSHM:AVqrmpa” ”strong=”l/7912|������������/�� x-morph=”OSHM:AR/Vhc”
x-cantillationLevel=”0.2.1” ”strong=”k/3606|�/��� x-morph=”OSHM:AC/C”�������|strong=”6903”
x-morph=”OSHM:AC” x-cantillationLevel=”0.2.0” ”strong=”1768|����� x-
morph=”OSHM:AC”����������|strong=”540” x-morph=”OSHM:AVhsmsa”
”strong=”1932|����� x-morph=”OSHM:APp3ms” x-cantillationLevel=”0.2”
”strong=”c/3606|���/�� x-morph=”OSHM:AC/Ncmsc”��������|strong=”7960”

156+
157+
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x-morph=”OSHM:ANcfsa” x-cantillationLevel=”0.1.0” ”strong=”c/7844|����������/��
x-morph=”OSHM:AC/VQsfsa” x-cantillationLevel=”0.1” ”strong=”3809|����
x-morph=”OSHM:ATn” ”strong=”7912|�������������� x-morph=”OSHM:AVup3fs”
x-cantillationLevel=”0.0” ”strong=”5922|���/������ x-morph=”OSHM:AR/Sp3ms”
x-cantillationLevel=”0”� 6 158 KJV:Dan.6.5 ”strong=”116|�������� x-
morph=”OSHM:AD” x-cantillationLevel=”1.1.0.0” ”strong=”1400|�/�����������
x-morph=”OSHM:ANcmpd/Td” ”strong=”479|�������� x-morph=”OSHM:APdxmp”
x-cantillationLevel=”1.1.0” ”strong=”560|���������� x-morph=”OSHM:AVqrmpa”
x-cantillationLevel=”1.1” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”3809|����
x-morph=”OSHM:ATn” ”strong=”7912|������������ x-morph=”OSHM:AVhi1cp”
x-cantillationLevel=”1.0.0” ”strong=”l/1841|����������/�� x-morph=”OSHM:AR/Np”
”strong=”1836|������� x-morph=”OSHM:APdxms” x-cantillationLevel=”1.0”
”strong=”3606|���� x-morph=”OSHM:ANcmsc”��������|strong=”5931”
x-morph=”OSHM:ANcfsa” x-cantillationLevel=”1” ”strong=”3861|������
x-morph=”OSHM:AC” x-cantillationLevel=”0.1” ”strong=”7912|���������������
x-morph=”OSHM:AVhp1cp” ”strong=”5922|���/������ x-morph=”OSHM:AR/Pp3ms”
x-cantillationLevel=”0.0” ”strong=”b/1882|����/��� x-morph=”OSHM:AR/Ncfsc”
”strong=”426|��/������� x-morph=”OSHM:ANcmsc/Sp3ms” x-cantillationLevel=”0”�
� 7 159 KJV:Dan.6.6 ”strong=”116|�������� x-morph=”OSHM:AD” x-
cantillationLevel=”1.1.0.0” ”strong=”5632|�/���������� x-morph=”OSHM:ANcmpd/Td”
”strong=”c/324|��/��������������������/�� x-morph=”OSHM:AC/Ncmpd/Td”
x-cantillationLevel=”1.1.0” ”strong=”459|������� x-morph=”OSHM:APdxmp”
x-cantillationLevel=”1.1” ”strong=”7284|������������ x-morph=”OSHM:AVhp3mp”
x-cantillationLevel=”1.0” ”strong=”5922|��� x-morph=”OSHM:AR”�/���������|strong=”4430”
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1” ”strong=”c/3652|����/��
x-morph=”OSHM:AC/D” x-cantillationLevel=”0.1.0” ”strong=”560|���������
x-morph=”OSHM:AVqrmpa” ”strong=”l|��/��� x-morph=”OSHM:AR/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”1868|������������ x-morph=”OSHM:ANp”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.0”
”strong=”l/5957|���������/�� x-morph=”OSHM:AR/Ncmpa” ”strong=”2418|������
x-morph=”OSHM:AVqv2ms” x-cantillationLevel=”0”� 8 160 KJV:Dan.6.7
strong=”3272|������������ a” x-morph=”OSHM:AVPp3mp” x-cantillationLevel=”1.2.1.1”
”strong=”3606|����� x-morph=”OSHM:ANcmsc” x-cantillationLevel=”1.2.1.0”
� ”strong=”5632|�������� x-morph=”OSHM:ANcmpc” ”strong=”4437|�/����������
x-morph=”OSHM:ANcfsd/Td” x-cantillationLevel=”1.2.1” ”strong=”5460|�/����������
x-morph=”OSHM:ANcmpd/Td” ”strong=”c/324|��/��������������������/���
x-morph=”OSHM:AC/Ncmpd/Td” x-cantillationLevel=”1.2.0” ”strong=”1907|�/��������������
x-morph=”OSHM:ANcmpd/Td” ”strong=”c/6347|�/���������/�� x-morph=”OSHM:AC/Ncmpd/Td”
x-cantillationLevel=”1.2” ”strong=”l/6966|���������/�� x-morph=”OSHM:AR/Vpc”
”strong=”7010|������ x-morph=”OSHM:ANcmsc” x-cantillationLevel=”1.1.0”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1”
”strong=”c/l/8631|���������/��/�� x-morph=”OSHM:AC/R/Vpc” x-cantillationLevel=”1.0”
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”strong=”633|������ x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”3606|��� x-morph=”OSHM:ANcmsc”������|strong=”1768”
x-morph=”OSHM:ATr”���������|strong=”1156” x-morph=”OSHM:AVqi3ms”
”strong=”1159|������ x-morph=”OSHM:ANcfsa” x-cantillationLevel=”0.2.1.1”
”strong=”4481|��� x-morph=”OSHM:AR”�����|strong=”3606” x-morph=”OSHM:ANcmsc”��������|strong=”426”
x-morph=”OSHM:ANcmsa” ”strong=”c/606|�������/��� x-morph=”OSHM:AC/Ncmsa”
x-cantillationLevel=”0.2.1.0” ”strong=”5705|��� x-morph=”OSHM:AR”���������|strong=”3118”
x-morph=”OSHM:ANcmpa” ”strong=”8533|���������� x-morph=”OSHM:AAcmpa”
x-cantillationLevel=”0.2.1” ”strong=”3861|������ x-morph=”OSHM:AC”
x-cantillationLevel=”0.2.0” ”strong=”4481|��/������ x-morph=”OSHM:AR/Sp2ms”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.2”
”strong=”7412|���������� x-morph=”OSHM:AVui3ms” x-cantillationLevel=”0.1”
”strong=”l/1358|����/�� x-morph=”OSHM:AR/Ncmsc” x-cantillationLevel=”0.0”
”strong=”744|�/����������� x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”0”�
9 161 KJV:Dan.6.8 ”strong=”3705|������� x-morph=”OSHM:AD” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1” ”strong=”6966|��������
x-morph=”OSHM:AVai2ms” ”strong=”633|�/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.0” ”strong=”c/7560|���������/�� x-morph=”OSHM:AC/Vqi2ms”
”strong=”3792|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”3809|���� x-morph=”OSHM:ATn”
”strong=”l/8133|�����������/�� x-morph=”OSHM:AR/Vhc” x-cantillationLevel=”0.0.0”
”strong=”k/1882|���/��� x-morph=”OSHM:AR/Ncfsc”�������|strong=”4076”
x-morph=”OSHM:ANp” ”strong=”c/6540|������/�� x-morph=”OSHM:AC/Np”
x-cantillationLevel=”0.0” ”strong=”1768|���� x-morph=”OSHM:ATr”�����|strong=”3809”
x-morph=”OSHM:ATn” ”strong=”5709|��������� x-morph=”OSHM:AVqi3fs”
x-cantillationLevel=”0”� 10 162 KJV:Dan.6.9 ”strong=”k/3606|�/��� x-
morph=”OSHM:AC/C”�������|strong=”6903” x-morph=”OSHM:AC” x-cantillationLevel=”1.0”
”strong=”1836|������� x-morph=”OSHM:AC” x-cantillationLevel=”1” ”strong=”4430|��/�������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1.0” ”strong=”1868|�������������
x-morph=”OSHM:ANp” x-cantillationLevel=”0.1” ”strong=”7560|�������
x-morph=”OSHM:AVqp3ms” ”strong=”3792|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.0” ”strong=”c/633|�/�������/�� x-morph=”OSHM:AC/Ncmsd/Td”
x-cantillationLevel=”0”� 11 163 KJV:Dan.6.10 ”strong=”c/1841|���������/���
x-morph=”OSHM:AC/Np” x-cantillationLevel=”1.2.0.1” ”strong=”k/1768|����/���
x-morph=”OSHM:AC/C” ”strong=”3046|������ x-morph=”OSHM:AVqp3ms”
x-cantillationLevel=”1.2.0.0” ”strong=”1768|����� x-morph=”OSHM:ATr”���������|strong=”7560”
x-morph=”OSHM:AVQp3ms” ”strong=”3792|��/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.2.0” ”strong=”5954|���� x-morph=”OSHM:AVqp3ms”
”strong=”l/1005|��/�������/�� x-morph=”OSHM:AR/Ncmsc/Sp3ms” x-
cantillationLevel=”1.2” ”strong=”c/3551|��������/�� x-morph=”OSHM:AC/Ncfpa”
”strong=”6606|���������� x-morph=”OSHM:AVQsfpa” ”strong=”l|���/��
x-morph=”OSHM:AR/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”b/5952|��/���������/���
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x-morph=”OSHM:AR/Ncfsc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”5049|������
x-morph=”OSHM:AR” x-cantillationLevel=”1.0” ”strong=”3390|������������
x-morph=”OSHM:ANp” x-cantillationLevel=”1” ”strong=”c/2166|���������/��
x-morph=”OSHM:AC/Ncmpa” ”strong=”8532|��������� x-morph=”OSHM:AAcbsa”
”strong=”b/3118|�/������/�� x-morph=”OSHM:AR/Ncmpd/Td” x-cantillationLevel=”0.2.1.1”
”strong=”1932|����� x-morph=”OSHM:APp3ms” x-cantillationLevel=”0.2.1.0”
� ”strong=”1289|�������� x-morph=”OSHM:AVqrmsa” ”strong=”5922|���
x-morph=”OSHM:AR”���/����������|strong=”1291” x-morph=”OSHM:ANcfpc/Sp3ms”
x-cantillationLevel=”0.2.1” ”strong=”c/6739|���������/�� x-morph=”OSHM:AC/Vprmsa”
”strong=”c/3029|�������/�� x-morph=”OSHM:AC/Varmsa” x-cantillationLevel=”0.2.0”
”strong=”6925|������ x-morph=”OSHM:AR” ”strong=”426|��/�������
x-morph=”OSHM:ANcmsc/Sp3ms” x-cantillationLevel=”0.2” ”strong=”k/3606|�/���
x-morph=”OSHM:AC/C”�������|strong=”6903” x-morph=”OSHM:AC” x-
cantillationLevel=”0.1.0” ”strong=”1768|����� x-morph=”OSHM:AC”�������|strong=”1934”
x-morph=”OSHM:AVqp3ms” ”strong=”5648|������ x-morph=”OSHM:AVqrmsa”
x-cantillationLevel=”0.1” ”strong=”4481|��� x-morph=”OSHM:AR”���������|strong=”6928”
x-morph=”OSHM:ANcfsc” x-cantillationLevel=”0.0” ”strong=”1836|�������
x-morph=”OSHM:APdxms” x-cantillationLevel=”0”� � 12 164 KJV:Dan.6.11
”strong=”116|�������� x-morph=”OSHM:AD” x-cantillationLevel=”1.1.0.0”
”strong=”1400|�/����������� x-morph=”OSHM:ANcmpd/Td” ”strong=”479|��������
x-morph=”OSHM:APdxmp” x-cantillationLevel=”1.1.0” ”strong=”7284|������������
x-morph=”OSHM:AVhp3mp” x-cantillationLevel=”1.1” ”strong=”c/7912|������������/��
x-morph=”OSHM:AC/Vhp3mp” x-cantillationLevel=”1.0” ”strong=”l/1841|����������/��
x-morph=”OSHM:ATo/Np” x-cantillationLevel=”1” ”strong=”1156|�������
x-morph=”OSHM:AVqrmsa” ”strong=”c/2604|�����������/�� x-morph=”OSHM:AC/VMrmsa”
x-cantillationLevel=”0.0” ”strong=”6925|������ x-morph=”OSHM:AR” ”strong=”426|��/�������
x-morph=”OSHM:ANcmsc/Sp3ms” x-cantillationLevel=”0”� 13 165 KJV:Dan.6.12
”strong=”b/116|������/���� x-morph=”OSHM:AR/D” x-cantillationLevel=”1.3.0.0”
”strong=”7127|��������� x-morph=”OSHM:AVQp3mp” ”strong=”c/560|���������/��
x-morph=”OSHM:AC/Vqrmsa” ”strong=”6925|����� x-morph=”OSHM:AR”��/��������|strong=”4430”
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.3.0” ”strong=”5922|���
x-morph=”OSHM:AR”�������|strong=”633” x-morph=”OSHM:ANcmsc” ”strong=”4430|��/�������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.3” ”strong=”i/3809|����/��
x-morph=”OSHM:ATi/Tn” ”strong=”633|������ x-morph=”OSHM:ANcmsa”
”strong=”7560|����������� x-morph=”OSHM:AVqp2ms” x-cantillationLevel=”1.2.2”
”strong=”1768|����� x-morph=”OSHM:AC” ”strong=”3606|��� x-morph=”OSHM:ANcmsc”��������|strong=”606”
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.2.1.1” ”strong=”1768|�����
x-morph=”OSHM:ATr”���������|strong=”1156” x-morph=”OSHM:AVqi3ms”
”strong=”4481|��� x-morph=”OSHM:AR”�����|strong=”3606” x-morph=”OSHM:ANcmsc”��������|strong=”426”
x-morph=”OSHM:ANcmsa” ”strong=”c/606|�������/��� x-morph=”OSHM:AC/Ncmsa”
x-cantillationLevel=”1.2.1.0” ”strong=”5705|��� x-morph=”OSHM:AR”���������|strong=”3118”
x-morph=”OSHM:ANcmpa” ”strong=”8533|���������� x-morph=”OSHM:AAcmpa”
x-cantillationLevel=”1.2.1” ”strong=”3861|������ x-morph=”OSHM:AC”
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x-cantillationLevel=”1.2.0” ”strong=”4481|��/������ x-morph=”OSHM:AR/Sp2ms”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.2”
”strong=”7412|���������� x-morph=”OSHM:AVui3ms” x-cantillationLevel=”1.1”
”strong=”l/1358|�����/�� x-morph=”OSHM:AR/Ncmsc” x-cantillationLevel=”1.0”
”strong=”744|�/���������� x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1”
”strong=”6032|������ x-morph=”OSHM:AVqrmsa” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.0.1.0” ”strong=”c/560|������/��
x-morph=”OSHM:AC/Vqrmsa” x-cantillationLevel=”0.0.1” ”strong=”3330|����������
x-morph=”OSHM:AAafsa” ”strong=”4406|�/�������� x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”0.0.0” ”strong=”k/1882|���/��� x-morph=”OSHM:AR/Ncfsc”�������|strong=”4076”
x-morph=”OSHM:ANp” ”strong=”c/6540|������/�� x-morph=”OSHM:AC/Np”
x-cantillationLevel=”0.0” ”strong=”1768|���� x-morph=”OSHM:ATr”�����|strong=”3809”
x-morph=”OSHM:ATn” ”strong=”5709|��������� x-morph=”OSHM:AVqi3fs”
x-cantillationLevel=”0”� 14 166 KJV:Dan.6.13 ”strong=”b/116|������/����
x-morph=”OSHM:AR/D” x-cantillationLevel=”1.2.0.0” ”strong=”6032|������
x-morph=”OSHM:AVqp3mp” ”strong=”c/560|���������/�� x-morph=”OSHM:AC/Vqrmpa”
x-cantillationLevel=”1.2.0” ”strong=”6925|������ x-morph=”OSHM:AR”
”strong=”4430|��/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.2”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”1841|����������
x-morph=”OSHM:ANp” x-cantillationLevel=”1.1.1.1” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”4481|��� x-morph=”OSHM:AR”��������|strong=”1123”
x-morph=”OSHM:ANcmpc” ”strong=”1547|�/�������� x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”1.1.1.0” ”strong=”1768|����� x-morph=”OSHM:ATr”
”strong=”3061|������� x-morph=”OSHM:ANp” x-cantillationLevel=”1.1.1”
”strong=”3809|��� x-morph=”OSHM:ATn”������|strong=”7761” x-morph=”OSHM:AVqp3ms”
”strong=”5922|�/��� x-morph=”OSHM:AR/Sp2ms” x-wType=”x-ketiv” 167
”strong=”4430|��/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1.0”
”strong=”2942|������ x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.1”
”strong=”c/5922|���/�� x-morph=”OSHM:AC/R”�/��������|strong=”633”
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.0” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”7560|����������� x-morph=”OSHM:AVqp2ms”
x-cantillationLevel=”1” ”strong=”c/2166|���������/�� x-morph=”OSHM:AC/Ncmpa”
”strong=”8532|��������� x-morph=”OSHM:AAcbsa” x-cantillationLevel=”0.1.0”
”strong=”b/3118|�/������/��� x-morph=”OSHM:AR/Ncmsd/Td” x-cantillationLevel=”0.1”
”strong=”1156|������� x-morph=”OSHM:AVqrmsa” x-cantillationLevel=”0.0”
”strong=”1159|��/��������� x-morph=”OSHM:ANcfsc/Sp3ms” x-cantillationLevel=”0”�
15 168 KJV:Dan.6.14 ”strong=”116|�������� x-morph=”OSHM:AD” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1.1.0” ”strong=”k/1768|����/���
x-morph=”OSHM:AC/C” ”strong=”4406|�/�������� x-morph=”OSHM:ANcfsd/Td”
”strong=”8086|������� x-morph=”OSHM:AVqp3ms” x-cantillationLevel=”1.1.1”
”strong=”7690|��������� x-morph=”OSHM:AAamsa” x-cantillationLevel=”1.1.0”
”strong=”888|�������� x-morph=”OSHM:AVqrmsa” ”strong=”5922|���/������
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x-morph=”OSHM:AR/Sp3ms” x-cantillationLevel=”1.1” ”strong=”c/5922|����/��
x-morph=”OSHM:AC/R” ”strong=”1841|����������� x-morph=”OSHM:ANp”
x-cantillationLevel=”1.0.0” ”strong=”7761|����� x-morph=”OSHM:AVqp3ms”
”strong=”1079|����� x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.0”
”strong=”l/7804|��/������������/�� x-morph=”OSHM:AR/Vec/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/5705|����/�� x-morph=”OSHM:AC/R”
x-cantillationLevel=”0.1.0” ”strong=”4606|��������� x-morph=”OSHM:ANcmpc”
”strong=”8122|�/��������� x-morph=”OSHM:ANcbsd/Td” x-cantillationLevel=”0.1”
”strong=”1934|������ x-morph=”OSHM:AVqp3ms” ”strong=”7712|�������������
x-morph=”OSHM:AVMrmsa” x-cantillationLevel=”0.0” ”strong=”l/5338|��/�����������/��
x-morph=”OSHM:AR/Vhc/Sp3ms” x-cantillationLevel=”0”� 16 169 KJV:Dan.6.15
”strong=”b/116|��������/��� x-morph=”OSHM:AR/D” x-cantillationLevel=”1.1.0”
”strong=”1400|�/����������� x-morph=”OSHM:ANcmpd/Td” ”strong=”479|��������
x-morph=”OSHM:APdxmp” x-cantillationLevel=”1.1” ”strong=”7284|������������
x-morph=”OSHM:AVhp3mp” x-cantillationLevel=”1.0” ”strong=”5922|���
x-morph=”OSHM:AR”�/���������|strong=”4430” x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1” ”strong=”c/560|���������/�� x-morph=”OSHM:AC/Vqrmpa”
”strong=”l/4430|�/��������/�� x-morph=”OSHM:AR/Ncmsd/Td” x-cantillationLevel=”0.1.2”
”strong=”3046|����� x-morph=”OSHM:AVqv2ms” ”strong=”4430|��/�������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1.1” ”strong=”1768|�����
x-morph=”OSHM:ATr”�����|strong=”1882” x-morph=”OSHM:ANcfsa” x-
cantillationLevel=”0.1.0” ”strong=”l/4076|������/�� x-morph=”OSHM:AR/Np”
”strong=”c/6540|������/�� x-morph=”OSHM:AC/Np” x-cantillationLevel=”0.1”
”strong=”1768|����� x-morph=”OSHM:ATr”����|strong=”3606” x-morph=”OSHM:ANcmsc”�������|strong=”633”
x-morph=”OSHM:ANcmsc” ”strong=”c/7010|������/�� x-morph=”OSHM:AC/Ncmsa”
x-cantillationLevel=”0.0.0” ”strong=”1768|����� x-morph=”OSHM:ATr”�/���������|strong=”4430”
x-morph=”OSHM:ANcmsd/Td” ”strong=”6966|��������� x-morph=”OSHM:AVhi3ms”
x-cantillationLevel=”0.0” ”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”l/8133|�����������/��
x-morph=”OSHM:AR/Vhc” x-cantillationLevel=”0”� 17 170 KJV:Dan.6.16
”strong=”b/116|�������/��� x-morph=”OSHM:AR/D” x-cantillationLevel=”1.2.1.0”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” ”strong=”560|������
x-morph=”OSHM:AVqp3ms” x-cantillationLevel=”1.2.1” ”strong=”c/858|���������/��
x-morph=”OSHM:AC/Vhp3mp” x-cantillationLevel=”1.2.0” ”strong=”l/1841|�����������/��
x-morph=”OSHM:ATo/Np” x-cantillationLevel=”1.2” ”strong=”c/7412|������/��
x-morph=”OSHM:AC/Vqp3mp” x-cantillationLevel=”1.1” ”strong=”l/1358|�/������/��
x-morph=”OSHM:AR/Ncmsd/Td” x-cantillationLevel=”1.0” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”744|�/����������� x-morph=”OSHM:ANcmpd/Td”
x-cantillationLevel=”1” ”strong=”6032|������ x-morph=”OSHM:AVqrmsa”
”strong=”4430|��/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.2.0”
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”strong=”3052|������� x-morph=”OSHM:AVQp3ms” ”strong=”7985|���������
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x-cantillationLevel=”1.1” ”strong=”c/3606|����/�� x-morph=”OSHM:AC/Ncmsc”
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x-morph=”OSHM:HNcmsa” ”strong=”1242|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”505|����������� x-morph=”OSHM:HAcbpa”
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”strong=”c/6663|���������/�� x-morph=”OSHM:HC/VNq3ms” x-cantillationLevel=”0.0”
”strong=”6944|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
15 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0.1”
”strong=”b/7200|�/�������/��� x-morph=”OSHM:HR/Vqc/Sp1cs” x-cantillationLevel=”1.0.0”
”strong=”589|������ x-morph=”OSHM:HPp1cs” ”strong=”1840|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/2377”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/1245|�/����������/��
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x-morph=”OSHM:HR” ”strong=”195|������� x-morph=”OSHM:HNp” x-
cantillationLevel=”1” ”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.2.0” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.2” ”strong=”1403|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”995|������ x-morph=”OSHM:HVhv2ms”
”strong=”l/1975|�������/�� x-morph=”OSHM:HR/Pdxcs” x-cantillationLevel=”0.0”
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morph=”OSHM:HNcbpc/Sp1cs” x-cantillationLevel=”1” ”strong=”c/559|��������/��
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x-cantillationLevel=”1.1.0” ”strong=”4438|�/���������� x-morph=”OSHM:HNcfsc/Sp3mp”
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a” x-morph=”OSHM:HC/Ncmsc”�����������|strong=”6918” x-morph=”OSHM:HAampa”
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x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.2.1” strong=”c/6743|����������/��
b” x-morph=”OSHM:HC/Vhq3ms” ”strong=”4820|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.2.0” ”strong=”b/3027|��/����/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”1.2” ”strong=”c/b/3824|��/������/��/�� x-morph=”OSHM:HC/R/Ncmsc/Sp3ms”
”strong=”1431|���������� x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”1.1”
”strong=”c/b/7962|���������/��/�� x-morph=”OSHM:HC/R/Ncfsa” x-
cantillationLevel=”1.0” ”strong=”7843|���������� x-morph=”OSHM:HVhi3ms”
strong=”7227|�������� a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1”
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morph=”OSHM:HC/VNp1cs” x-cantillationLevel=”1.2.0” ”strong=”3117|�������
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x-morph=”OSHM:HC/Vqw1cs/Sh” ”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”6440”
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strong=”d/5612|�������/�� a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”5704|��� x-morph=”OSHM:HR”�����|strong=”6256” x-morph=”OSHM:HNcbsc”
”strong=”7093|���� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”7751|�����������
a” x-morph=”OSHM:HVoi3mp” strong=”7227|�������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”0.0” strong=”c/7235|���������/�� a” x-morph=”OSHM:HC/Vqi3fs”
”strong=”d/1847|�������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”�
5 ”strong=”c/7200|����������/�� x-morph=”OSHM:HC/Vqp1cs” x-cantillationLevel=”1.1.0”
”strong=”589|������ x-morph=”OSHM:HPp1cs” ”strong=”1840|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” x-cantillationLevel=”1.0.0” ”strong=”8147|���������
x-morph=”OSHM:HAcmda” ”strong=”312|��������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.0” ”strong=”5975|��������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”1” ”strong=”259|������ x-morph=”OSHM:HAcmsa”
”strong=”2008|�������� x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0”
”strong=”l/8193|�������/�� x-morph=”OSHM:HR/Ncfsc” ”strong=”d/2975|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”c/259|������/��
x-morph=”OSHM:HC/Acmsa” ”strong=”2008|������� x-morph=”OSHM:HD”
x-cantillationLevel=”0.0” ”strong=”l/8193|�������/�� x-morph=”OSHM:HR/Ncfsc”
”strong=”d/2975|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
6 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1”
”strong=”l/376|������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”3847|�������� x-morph=”OSHM:HVqsmsc” ”strong=”d/906|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”m/4605|�������/�� x-morph=”OSHM:HR/D”
x-cantillationLevel=”1.0” ”strong=”l/4325|�������/�� x-morph=”OSHM:HR/Ncmpc”
”strong=”d/2975|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”5704|��� x-morph=”OSHM:HR”�������|strong=”4970” x-morph=”OSHM:HTi”
x-cantillationLevel=”0.0” ”strong=”7093|���� x-morph=”OSHM:HNcmsc”
”strong=”d/6382|����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�
7 ”strong=”c/8085|���������/�� x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.2.1.1”
”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/376” x-
morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1.0” � ”strong=”3847|��������
x-morph=”OSHM:HVqsmsc” ”strong=”d/906|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”m/4605|�������/�� x-morph=”OSHM:HR/D” x-cantillationLevel=”1.2.0”
”strong=”l/4325|�������/�� x-morph=”OSHM:HR/Ncmpc” ”strong=”d/2975|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2” strong=”c/7311|�������/��
a” x-morph=”OSHM:HC/Vhw3ms” ”strong=”3225|��/������� x-morph=”OSHM:HNcfsc/Sp3ms”
”strong=”c/8040|���/�������/�� x-morph=”OSHM:HC/Ncmsc/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”413|��� x-morph=”OSHM:HR”����������/���|strong=”d/8064”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1” ”strong=”c/7650|�����������/��
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x-morph=”OSHM:HC/VNw3ms” x-cantillationLevel=”1.0” strong=”b/2416|����/���
a” x-morph=”OSHM:HR/Ncbsc” ”strong=”d/5769|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”l/4150|�������/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”4150|����������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0.1.0” ”strong=”c/2677|������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.0.1” ”strong=”c/k/3615|��������/��/�� x-morph=”OSHM:HC/R/Vpc”
x-cantillationLevel=”0.0.0” strong=”5310|������� a” x-morph=”OSHM:HVpc”
”strong=”3027|��� x-morph=”OSHM:HNcbsc”����|strong=”5971 a” x-morph=”OSHM:HNcmsc”��������|strong=”6944”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”3615|������������
x-morph=”OSHM:HVqi3fp” ”strong=”3605|��� x-morph=”OSHM:HNcmsc”��������|strong=”428”
x-morph=”OSHM:HPdxcp” x-cantillationLevel=”0”� 8 ”strong=”c/589|������/��
x-morph=”OSHM:HC/Pp1cs” ”strong=”8085|������������ x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”995|������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1”
”strong=”c/559|�/��������/�� x-morph=”OSHM:HC/Vqw1cs/Sh” x-cantillationLevel=”0.2”
”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1”
”strong=”4100|���� x-morph=”OSHM:HTi” ”strong=”319|��������� x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”428|�������
x-morph=”OSHM:HPdxcp” x-cantillationLevel=”0”� � 9 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0” ”strong=”3212|�����
x-morph=”OSHM:HVqv2ms” ”strong=”1840|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”����������|strong=”5640
a” x-morph=”OSHM:HVqsmpa” ”strong=”c/2856|���������/�� x-morph=”OSHM:HC/Vqsmpa”
x-cantillationLevel=”0.0.0” ”strong=”d/1697|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0” ”strong=”5704|��� x-morph=”OSHM:HR”�����|strong=”6256”
x-morph=”OSHM:HNcbsc” ”strong=”7093|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 10 ”strong=”1305|�������������� x-morph=”OSHM:HVti3mp”
x-cantillationLevel=”1.2.0.0” strong=”c/3835|��������������/�� a” x-
morph=”OSHM:HC/Vti3mp” ”strong=”c/6884|������������/�� x-morph=”OSHM:HC/VNi3mp”
x-cantillationLevel=”1.2.0” strong=”7227|�������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.2” ”strong=”c/7561|������������/�� x-morph=”OSHM:HC/Vhq3cp”
”strong=”7563|���������� x-morph=”OSHM:HAampa” x-cantillationLevel=”1.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”995|���������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�����������|strong=”7563” x-morph=”OSHM:HAampa”
x-cantillationLevel=”1” strong=”c/d/7919|��������������/��/�� a”
x-morph=”OSHM:HC/Td/Vhrmpa” x-cantillationLevel=”0.0” ”strong=”995|���������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0”� 11 ”strong=”c/m/6256|����/��/��
x-morph=”OSHM:HC/R/Ncbsa” x-cantillationLevel=”1.1.0” ”strong=”5493|�������
x-morph=”OSHM:HVHp3ms” ”strong=”d/8548|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”c/l/5414|����/��/�� x-morph=”OSHM:HC/R/Vqc”
x-cantillationLevel=”1.0” ”strong=”8251|��������� x-morph=”OSHM:HNcmsa”
”strong=”8074|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1”
”strong=”3117|������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1”
”strong=”505|������ x-morph=”OSHM:HAcbsa” x-cantillationLevel=”0.0”
”strong=”3967|��������� x-morph=”OSHM:HAcbda” ”strong=”c/8673|����������/��
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x-morph=”OSHM:HC/Acbpa” x-cantillationLevel=”0”� 12 ”strong=”835|���������
x-morph=”OSHM:HNcmpa” ”strong=”d/2442|���������/��� x-morph=”OSHM:HTd/Vprmsa”
x-cantillationLevel=”1.0” ”strong=”c/5060|���������/�� x-morph=”OSHM:HC/Vhi3ms”
x-cantillationLevel=”1” ”strong=”l/3117|�������/�� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”0.2” ”strong=”505|������ x-morph=”OSHM:HAcbsa”
x-cantillationLevel=”0.1” ”strong=”7969|�������� x-morph=”OSHM:HAcfsa”
”strong=”3967|������� x-morph=”OSHM:HAcbpa” x-cantillationLevel=”0.0”
”strong=”7970|����������� x-morph=”OSHM:HAcbpa” ”strong=”c/2568|����������/��
x-morph=”OSHM:HC/Acmsa” x-cantillationLevel=”0”� 13 strong=”c/859|�������/��
a” x-morph=”OSHM:HC/Pp2ms” x-cantillationLevel=”1.0” ”strong=”3212|�����
x-morph=”OSHM:HVqv2ms” ”strong=”l/7093|�����/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/5117|��������/�� x-morph=”OSHM:HC/Vqi2ms”
x-cantillationLevel=”0.0.0” ”strong=”c/5975|��������/�� x-morph=”OSHM:HC/Vqi2ms”
”strong=”l/1486|���/������/�� x-morph=”OSHM:HR/Ncmsc/Sp2ms” x-
cantillationLevel=”0.0” ”strong=”l/7093|����/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/3117|��������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�


